1SO9001:2000 A iF 1k @

FPER RESE— WRTE EWRS

SSANJAINDIT VOUANY PR B < vt

FHUTRRERERZHBRLE
feht: FHIIE4TEOINEESHBIZS
B - B6-0574-B884 7111 BBB5 1818

£ W :86-05T4-B884 T116

it i 315502

&k . MPwww ardyy.com

fE i . ardyy@ardyy.com

FENGHUA ANERDA HYDRAULIC EQUIPMENT CO,,LTD
ADD:NO.32 Zongyan Road, Xikou indusirial Area, Ningbo,Zhejiang
Tel:86-0574-8884 7111 8B&5 1818
Fax:BG-0574-8884 T116
P.C:315502

Hitp:/iwww.ardyy.com
E-mail:ardyy@ardyy.com

AR D S{{HRREREEHERAS

’E‘ /j-{ Fenghua Anerda Hydraulic Equipment Co.,Ltd.

RE Tl

MIGBO. CHINA



HOSE FITTING ANERDAHYDRAULIC HOSE FITTING

ANERDAHYDRAULIC

mm)  Construction And Connection Size(unit:mm)

il |

PieZOmetriCHOSeand PieZOmetriCCOnneCtOr Comt rmdwosher S L il
. | —| Camb i -
JBO82-77 ' T med Washa 5 519

Introduction

HF 3m The piezometric hose assembly and the Piezometric Joint are used for T -
64Mpa testing the pressure at each spot of the hydraulic system.Among their e
connection forms are hinged type,quick-change type and taper-face =
sealing type.
HF Connection Code M S L H H Connection Code M L -
HF Series Micro-Type High Pressure Hose Joint Assembly 3 1 | Mioxy 17 32 28 8 O et 1 M10x1 8 54
L taper-face
Jjinged type t
2 M14x1.5 19 41 30 12 sealing type 2 12 58
3.0mm 70 +260 40Mpa
2.9mm 64Mpa
6.0mm 160Mpa Coaent e o g 547
239 m 25 4 30mm JB982-77
o - I.
Specifications 2|
Nominal Diameter: 3.0mm Temp RequirementS 70 +260 MaX Dynamic Pressure 40 Mpa N i [ e '
Hose Nominal Diameter: 2.9mm ChemiCalPropety ACid-resiStantSO Vent MaK  Static Pressure 64 Mpa
Hose OD: 6.0mm EnvironmentRequirements Ozone-andUltra-violent-resiStant,andnothygroscopiC Min Burstcg Pressure  160Mpa _'L
Weight:23g/m SafetyCoefficients 2 5Withstaticloadand4withdynamicload Min Bending Radius 30mm -
MOdeI DeSlgnatlon Connection Code M L L1 S Connection Code M L L1
H-H H-H H-B-P-H K 1 M10x1 8 51 17 E 1 M14x1.5 12 34
K Draw-in E External
Attachment Type 2 12 55 19 Threaded Typeg 2 12 34
(m)Hoselength(m)
PTALE L AL
Micro-Type high pressure Hose connector Assembly 40(Mpa)PressureGrade40(Mpa) Fzdel FT piezometnic o
Cianrnactho: =
¢ 3 NominalDia ¢ 3 Y ‘w.f' -
. . e '.\.'. At e = -
ConnectioncodeOfoneend connector Connectionthreadcode L IS > ‘_: ] | l‘-d e
J J  Hingedtype ( )Oftheotherendconnecto E. i el o e T e T !
o O Taper-facesealingtype T L
H H Block-changetype ConnectioncodeOftheotherendconnector
P P Directlyconnectedwith pressuregauge J J Hinged type
K K Draw-inattachmenttype o) O Taper-facesealing type
G G Fixedscrewtype H H Block-changetype
S S Quick-changetype P P Directlyconnectedwith pressuregauge M S M L L1
E E Outerthread typ K K Draw-ina~achmenttype Connection Code Connection Code
G G Fixed screwtype 1 M12x1.25 17 P 1 M14x1.5 10 34
Connectionthreadcode S S Quick-changetype
H 2 M16x2 19 P Direct | 2 M20x1.5 18 42
( Jofoneend: conneclo E E Outerthread lype H Block-change Connlerifedyto n
Type 3 M14x1.5 17 Pressure Gauge 3 G/4x19 10 34
4 M16x1.5 19
w 5 T 1A 5
i — | Bigirect ional cannecior
w e RIS KRR P 7 X
- 1 - - iem —aal] B —, A il — 18 +
L e ] Vs - X I o - ) = ' = |
1 — =
Wi : ] |
Hosa Length
- -
1 3.
PT Connection Code N L L & Connection Code i = i
2 G 1 M12x1.25 8 31 17 S 1 M14x1.5 12 104
M20X 5 M14X1.5 G Fixed Tread 2 M14x1.5 10 33 17 GS Quick-Change 2 M20x1.5 14 106
) ) T T
ype 3 M16x1.5 10 33 19 ype 3 12 104

1.5m 3mm HFS2 P1-3-P-1.5



ANERDAHYDRAULIC

HOSE FITTING

HOSE FITTING

ANERDAHYDRAULIC

PT
PT SERIES TESTING POINT

Construction and Connection Size

Not Exhausting State

Exhausting State

Pt
M1 M2 H h S
PT-1 PT-00 M10X1 M12X1.25 33 8 17 H1
PT-2 PT-00A1 M10X1 M16 42 8 19 H2
PT-3 PT-00A2/DI-3/M14X1.5 M14X1.5 M16 46 12 19 H2
PT-4 DI-3/M10X1 M10X1 M16 46 12 19 H2
PT-5 DI-3/M12X1.5 M12X1.5 M16 46 12 19 H2
PT-6 DI-3/M18X1.5 M18X1.5 M16 46 12 24 H2
PT-7 DI-3/G1/4 G1/4X19 M16 46 12 19 H2
PT-8 BZ M12X1.5 M14X1.5| 50 11.5 17 H3
PT-9 KF-1/M10X1 M10X1 M16X1.5| 46 11.5 19 H4
PT-10 KF-1/M12X1.5 M12X1.5 M16X1.5| 46 11.5 19 H4
PT-11 KF-1/M14X1.5 M14X1.5 M16X1.5| 46 11.5 19 H4
PT-12 KF-1/M18X1.5 M18X1.5 M16X1.5| 46 11.5 24 H4
DI-10 DI-11
M1 M2 H h S
PPT-1 PT-00 M10X1 | M12X1.25 33 8 17 H1
PPT-2 PT-00A N10X1 M16X2 42 8 19 H2
PPT-3 PT-00A2 M14X1.5 M16X2 46 12 19 H2
PTF
BE L AT $ )
Pl cornecee Lot Y H h S M1
T i M22X1.5 28 8 27
s M27X1.5 29 9 32 M10X1
—.. _T T M30X1.5 30 10 36 M10X1 M1AXLS
ﬁl’*?ﬁ-‘_xﬁﬁ"?&a— T £1 L mjgiz 2&13 i; ‘51; migii PTF—M'l/lAlz)i(.]E;/i/IZZXLS
JB972-77 b= M52X2 37 | 17 | 60 GY4
M62X2 39 | 19 | 70

PTB
PTB SERIES TESTING EQUIPMENT

ExternalandConnectionSize Model Designation

A ﬁr{éaar-_--a;}ﬁ
Praane GaugE T 1
|£ #@?—_ﬂ PTB-H P O -
. ‘5\3\_.\;: _-:':‘}7.1' (mm)
o Hose length (mm)
Ay T Piezometric device
. 6=0-6Mpa
| | — Measuring range 25=0-25Mpa
1 TI I Thread size for connecting 40=0-40Mpa
| piezometric connector
: H1 M12x1.25 Thread size for connect ing manometer
'.,\ , ! H2 M16 P1 M14X1.5
\ __f.f,’/ H3 M14X1.5 P2 M20X1.5
T H4 M16X1.5 P3 G4
CYTESTING EQUIPMENT
Introduction Model Designation
Cy-UJ-00-00-0
Piezometric connector model of user'ssystem M14X1.5
M16

Piezometric device thread:

v

Please make statement

Max.range of pressure gauge for special requ irfments

The CY Piezometric Device is a portable meter for measuring
pressure at each spot in the hydraulic system,which consists of a
hose assembly and shock-proof pressure gauge

Numder of pressure gauges

Piezometric device

Range of Each Pressure Gauge of the Piezometric Device

Three Gauges Type Two Gauges Type One Gauge Type
0-6MPa 1
0-6MPa
0-25MPa 0-40MPa
0-40MPa
0-40MPa 2
3
85
4
External and Connection Size
5
T WIdE A SEOYIH R 6
7

b Ij—_ ey R,

. L “j'rl\-"-'?-'féﬂ.:z._. e

-_— L ’
Example of Model
cy 40Mpa When the Model CY piezometric device with double pressure gauges is
M16 PT-00 CY-2-40-M16-PT-00 needed ,if the max.range is 40Mpa,the piezometric device interface screw thread
is M16 and the piezometric connector model is PT-OO,the model designation for
M14X1.5 order is CY-2-40-M 16-PT-00.

M16




ERrD

ANERDAHYDRAULIC

Content

AEARD

ANERDAHYDRAULIC

Content

0
2
>
Q)
m
o
T
@)
%
m
il
—
-
z
®

01200 01300

T T

01100 00110-A 00110
P3 P3 P4 P4 P5
: L . 1 ! -
T qu mm* : mﬂy
03310 00200 00210 01400 00400
P5 P56 P6 P7 P7
Ferrule I S AN Tl ey b
00401 03300 00100 00018 00FFO
P8 P8 P9 P9 P10
—t e ——— .
s gy U
B | | . 'Lu, . i".r.-'..r.r-a"-!.u. !
Ll . ' B . l . :
00710 00621 00405 00605
P11 P11 P12 P12
2
R INIITITR
-
Flat eS8t
20211 20211-T 20241 20241-T 20291 20291-T
P14 P15 P15
60 ° ;j S
l 'Jr_L | _i_tll-l--lL—

60 ° ne e&at

10611
P16

20611 20611-T
P16

20641 20641-T

P17 P17

20691 20691-T

Multiseal

]

20111 20111
P18

g

-T 2014120141-T

P18

L.

20191 20191-T
P19

74 °

74 ° ne eat

20711 20711-T
P20

e _ L/ =T Y
e . -
'-E-J" R, 4

20741
P20

%)
=
>
@
m
o
T
@)
%
M
il
_4
-
Z
®

24 ° "Tﬁu—— N | — -
4 [ S A Sy | s
24 ° Qne
O-Ring edl .T 10411 20411 20411-T 20441 20441-T
P21 P22 P22
24 ° H!:f?"m B
ot T TS Y
24 ° ne g ] 3
O-Ring eal .T 10511 20511 20511-T 20541 20541-T 20591 20591-T
P23 P24 P24 P25
- — . : _"III]II:" ._;_"”jll.l_
iﬂ - _,}' - . I|I
‘{_ =1 e 4
Standpipe t&ight : -
50011 50041 50091
P26 P27 P28
——
o] (CIHIE T
BSP -®ing eal N
12211
P29
el
__H ITHLLE N ]
BSPT e
13011-SP
P29
[
"'[ J /AR I
BSP Mtiseal s i
22111 22111-W 22111-T 22141 22141-W 22141-T 22191 22191-W 22191-T
P30 P30 P31
BSP I|&t eS8l
i .‘ .. W :.:_|'I
ORI 011 [ L “’ T
i U |
. 12611A 22611 22611-T 22611-W 22641 22641-W 22641-T
60 P33 P34 P34
- & - . .
BSP ®° P ] g
Cone €&l Py i
" E ;Hm_mu] E ;Hm-mu]
22691K 22691 22691-W 22691-T 22611D 22611D-SM
P35 P35 P36 P36




ERrD

ANERDAHYDRAULIC

Content

AEARD

ANERDAHYDRAULIC

content

SAE O 'J;EH.J"‘

SAE <@®ing eal

16011
P37
[ 101 T
NPT o
15611
P37
.ﬂ' F | . 3 2 . {é: N
P AE_ 4 L | ,33‘\' Lo
ST = s LD = o 8 =
L ST 5 ¥ ] &i_
16711 26711 26711-T 26741 26741-W 26791K
Jic P38 P38 P39 P39
74 °
JIC &~ ™ E L .
Cone €&l EeiE
26791 26791-W 26711D 26711D-SM
P40 P40 P41
LA .
(/) _L_ L
S SAE  90° j[|_|U_|||IIJ I | : -|[|JJJ ] &’ S .
> Romca
(D) Cone a® .
m 17811 27811 27841 27891
P41 P42 P42 P43
O
L ) L
@)
ORFS . .
wn SRl L
U ORFS At esl |
T 14211 24211 24211-T 24211-W 24241 24241-T 24241-W 24291 24291-T 24291-W
:| P43 P44 P44 P45
_4 P !
Z NPSM 60 ° WPE_—_ T
0 G SIS é a7
NPSM 6 ° = o
Cone €8l 21611 21641
P45 P46
|F—}L [ =
SAE o = . i [ ﬁh [
[IIT ey ligh., AL
SAE lange .TL. T N = e
87311 87341 87391 FL
P47 P47 P48 P49
3 L xﬂ&fﬁ%?
SAE ‘ ! T s 5
SAE IBnge .M. | : N EE}‘:“{@
87611 87641 87691 FS
P49 P50 P50 P51

%)
2
>
@
m
o
I
@)
%
m
il
_4
-
z
®

9000PSI Léf—”l s WMKW_
SAE IFANNGE ¢ TE
6000PISNTERL OCK 87913 87943
P51 P51
| L f,, T ) /__.r.n!'.»;.-' n
SAE O00PSI | [T rim - @ A
AR IR o
SAE FLANGE 9000PSI 87913L 87943L 87993L
INTERLOCK P52 P52 P53
J i
Flange -
88111 88191
P53 P54
60 ° r—lu_ ] i e ==
|_||,__1_|_ [ THITH “'-,_‘i_E:L i '~ "y
Metric 06° e s ":' 3
Cone €3l 18611 28611 28611-W 2864128641-W 28691 28691-W
P54 P55 P55 P56
.{- A _u-HUmJ
60 ° - ! LHJ'I- T ' 1|LI.
GAS ®° = ' ‘
Cone €&l 29611 29611-W 29641 29641-W 29691 29691-W
P56 P57 P57
—[|:|_|:|:|:|.r_r
Metric &VYerwash 20011-T
P58
/I/ELE&E:LLM Eﬁﬁiﬁﬂmmnf
[LJ LrALL my g mm=
60011 60012 67011 67012
Staplelok P58 b5g
0 Wik g
T m ; I . ,%H’”‘*m s’
Banjo 70011 70012 700M 72011 72012 7208
P59 P59 P60 P60
SAE @Ring
Boss wivel 15611SW 15691KSW
P61 P61




ERrD

ANERDAHYDRAULIC

Content

AEARD

ANERDAHYDRAULIC

Content

0
2
>
@
2
o
I
@)
%
L
il
_|
-
Z
®

SAE o m_
SAE <{Ring 16011SW 16091KSW
Boss wAvel P61 P62
a2l r e
N WL - (11 IO T ]
Double dBnection N k - |
90011 90012
P62 P63
i _;.'.: ) I = |;__
e R e e
bz o S ek
GB METRIC FEMALE J;F LI 4; a3
MULTISFAL INTEGRAL 20111F 20141F 20191F
FITTING P63 P64 P64
=l : .'=- - ';'§_|
o — T h eI .
FRE [ it St L e
e T <& “ichy
GB METRIC FEMALE ‘ o
F L ASE AINTEGRAL 20211F 20241F 20291F
FITTING P65 P65 P66
£ N — d—
-k = R TG T
! Tt | \O{( . 7&%
BSP FEMALE - E 1
METRICSEAT 22111F 22141F 22191F
INTEGEAL IFTING P66 P67 P67
) I:_I';_: _I.'}.i._ , /: |;:| _P'zl M_Il_
W tb_L J:[ ! | ‘5@ S L e
[ mmw __\ e Ll
BSPFEMALE CONE o :
INTEGRAL IFTING 22611F 22641F 22691F
P68 P68 P69
s i ,,L‘_ - h*'.: /'-'-:Hﬁ !
Jic ey s T TR T i
"L T T 7 i
JICFEMALE CONE .12'5711:“*_ " ¢.56741F ”"36791F
INTEGRAL FITTING P69 P70 P70
b| :__--.'—: ; i:] |_| o _,-zo v:‘;‘;‘_::_! ]
Ny i
GB METRICFEMALE74° 20711F 20741F 50791F
CONE NTEGRAL 671 P71 P72
FITTING
(@] ".',_ £, . ‘ .T"'-__l_
I E ! | /,»”5’T"lf’Ji,;.,li‘!rJI { CEEIT
e e B A I 3 __%_
T & 1%,
METRIC FEMALECONE JEEny
L.T.WITRE INTEGRAL 20817F-B 2005E 2075 °

FITTING

ONILLId dSOH d39VMS

ES

° Mo et L) Py
METRIC EMALE ONE JM';‘;I[’J %%f L e
H.T.WITH @RING DNE s
TWO-WIRE NTEGRAL 20511F-B 20541F-B 20591F-B
FITTING P74 P74 P75
SAE  3000PSI ho= -. ed ) . ,/12‘, —3%
12‘” Y _tg/ o ere s - jé{ *
SAELANGBDOORSI 87311F-B {87341F B ) -.r 87391F-B
FORNETWO- WLRE - - -
INTEGRAL IFTING P75 P76 P76
SAE 6000PSI F-— | u-\\{-:;.;,,'i - i I
SN S L (el
SAE FLANGE6000PSI ' e
FOR ONE TWO-WLRE 87611F-B 87641F-B 87691F-B
P77 P77 P77

INTEGRAL IFTING




ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC

How To Order Hose Fittings

Size of Hose Connection

Hose Fitting Connection Size

Hose Fitting Series Number

5 ‘1 ‘2
Hose fitting series number consists of five numbers.The last number® 1" means for braided hoses.
The last number “ 2" means for spiral hoses.

Hose DN 3 4 5 6 8 10| 12 | 16 | 20 | 22 | 25| 32| 40 | 45| 50
Hose Dash -01|-02|-03|-04|-05|-06|-08|-10|-12|-14|-16|-20| -24 | -28 | -32

BSP G1/8” G1/4” _ G3/8”" G1/2" G5/8” G3/4” Gl G1.1/4" | G1.1/2” G2
X28 X19 X19 X14 X14 X14 X11 | X11 X11 X11
Thread
BSPT BIEE R1/4” . R3/8” R1/2” N R3/4” R1” R1.1/4” | R1.1/2" R2”
X28 X19 X19 X14 X14 X11 | X11 X11 X11
Thread
NPT Z1/8” zZ1/4” . Z3/8” zZ1/2” » Z3/4” z1” Z1.1/4” | z1.1/2" | Z2”
X27 X18 X18 X14 X14 X11.5 | X11.5 | X11.5 X11.5
Thread
Jic N 7/16X 1/2” 9/16” 3/4” 718" 1.1/16” | 1.5/16” | 1.5/8” | 1.7/8" | 2.1/2”
20 X20 X18 X16 X14 X12 X12 X12 X12 X12
Thread
Flange [ - - - 1/2" - 3/4" 1" 1.1/4" | 1.1/2" 2"
Size
-02 -04 -05 -06 -08 -10 -12 -16 -20 -24 -32
Dash

The dash of metric thread accords with the O.D of thread.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com




ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

01100

FERRULE FOR CHINA 1-WIRE HOSE

HOSE BORE DIMENSIONS

PART Number

DN DASH D L
01100-03 4 3 17 28
01100-04 6 4 19 30
01100-05 8 5 21 32
01100-06 10 6 23 32
01100-08 12 8 28 34
01100-10 16 10 31 39
01100-12 20 12 34 43
01100-14 22 14 37 43
01100-16 25 16 41 50
01100-20 32 20 49 59
01100-24 40 24 55 74

o L
01200
FERRULE FOR CHINA 2-WIRE HOSE

PART Number HOSE BORE DIMENSIONS

DN DASH D L
01200-04 6 04 21 30
01200-05 8 05 23 32
01200-06 10 06 25 32
01200-08 12 08 31 34
01200-10 16 10 34 39
01200-12 20 12 37 43
01200-14 22 14 40 43
01200-16 25 16 43 50
01200-20 32 20 51 59
01200-24 40 24 57 74
01200-28 45 28 64 74
01200-32 50 32 70 78

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

01300

FERRULE FOR CHINA 2-WIRE HOSE

HOSE BORE DIMENSIONS
PART Number
DN DASH L
01200-04 04 21 30
01200-05 05 23 32
01200-06 10 06 25 32
01200-08 12 08 31 34
01200-10 16 10 34 39
01200-12 20 12 37 43
01200-14 22 14 40 43
01200-16 25 16 43 50
01200-20 32 20 51 59
01200-24 40 24 57 74
01200-28 45 28 64 74
01200-32 50 32 70 78
i
00110-A
SAE 100 R1AT/EN 853 1SN
FERRULE FOR SAE 100 R1AT/EN 8531SN HOSE
PART Number HOSE BORE DIMENSIONS
DN DASH L
01100-03A 5 03 23
01100-04A 6 04 30.5
01100-05A 05 30
01100-06A 10 06 32
01100-08A 12 08 34
01100-10A 16 10 37
01100-12A 20 12 42
01100-16A 25 16 51

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com



ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

00110
SAE 100 R1AT/EN 853 1SN

FERRULE FOR SAE 100 R1AT/EN 853 1SN HOSE

HOSE BORE DIMENSIONS
PART Number
DN DASH L
01100-20 32 20 59
01100-24 40 24 74
01100-32 50 32 78
L.
03310
L 4 SAE 100 R2AT/EN 853 2SN
FERRULE FOR SAE 100 R2AT/EN 853 2SN HOSE
HOSE BORE DIMENSIONS
PART Number
DN DASH L
03310-03 5 03 23
03310-04 6 04 30.5
03310-05 8 05 30
03310-06 10 06 32
03310-08 12 08 34
03310-10 16 10 37
03310-12 20 12 42
03310-16 25 16 51

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

00200

SAE 100 R2AT/EN 853 2SN

FERRULE FOR SAE 100 R2AT/EN 853 2SN HOSE

HOSE BORE DIMENSIONS

PART Number

DN DASH L
00200-20 32 20 59
00200-24 40 24 74
00200-32 50 32 78

. L. .
00210

SAE 100 R2AT/DIN 20022 2SN

FERRULE FOR SAE 100 R2AT/DIN 20022 2SN HOSE

PART Number HOSE BORE DIMENSIONS
DN DASH L
00210-03 5 03 -
00210-04 6 04 30
00210-05 8 05 a1
00210-06 10 e »
00210-08 12 08 a4
00210-10 16 10 37
00210-12 20 12 13
00210-16 25 16 50
00210-20 32 20 5o
00210-24 40 o4 -
00210-32 50 32 -

Don’trecommend for engineering machine

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com m




ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

01400
R12/20-24
FERRULE FOR SAE R12/20-24 HOSE - L |
i
00401
' ] L ASH R12/32
FERRULE FOR4SH R12/32 HOSE
HOSE BORE DIMENSIONS ‘
PART Number DN DASH L
01400-06 10 06 39
01400-08 12 08 41
01400-10 16 10 43
UAD0-12 - % = SART Number HOSE BORE DIMENSIONS
01400-16 25 16 61.5 DN L
01400-20 32 20 67.5 00401-20 32 20 59
01400-24 20 4 P 00401-24 40 24 74
L 0 - - 00401-32 50 32 78
00400
ASP 4SH/12-16 R12/06-16 03300
FERRULE FOR4SP 4SH/12-16 R12/06-16 HOSE = I ” H ' SAE 100R 1AT
1 A A FERRULE FOR SAE 100R 1AT
L
HOSE BORE DIMENSIONS
HOSE BORE DIMENSIONS SRR N DN DASH D L
FARTIUmbEr DN DASH L 03300-04 6 04 20.5 30
00400-04 6 01 37.5 03300-05 8 05 22 31
00400-06 10 06 39 03300-06 10 06 24.5 32
00400-08 12 08 41 03300-08 12 08 28 34
00400-10 16 10 43 03300-10 16 10 31 37
00400-12 20 12 51 03300-12 20 12 35 43
00400-16 25 16 61.5 03300-16 25 16 43 51
00400-20 32 20 67.5 03300-20 32 20 53 57
00400-24 40 24 75 03300-24 40 24 62 60
00400-32 50 32 79 03300-32 50 32 76 75

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com m



ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

00100

SAE 100R1AT/EN 853 1SN
SKIVE FERRULE FOR SAE100R1AT/EN 853 1SN HOSE

OOTFO

FERRULE FOR TEFLON HOSE

HOSE BORE DIMENSIONS
PART Number
DN D L

00100-02 4 02 17 26
00100-04 6 04 19 30
00100-05 8 05 21 32
00100-06 10 06 23 32
00100-08 12 08 28 34
00100-10 16 10 31 39
00100-12 20 12 36 43
00100-16 25 16 43 50
00100-20 32 20 51 57
00100-24 40 24 57 60
00100-32 50 32 70 75

00018

SAE100R7/R8

FERRULE FOR SAE 100R7/R8 HOSE
PART Number HOSE BORE DIMENSIONS

DN DASH D L

00018-03 5 03 14 25
00018-04 6 04 17 30
00018-05 8 05 19 30
00018-06 10 06 21 30
00018-08 12 08 25.5 34
00018-10 16 10 29 38
00018-12 20 12 33 43

PART Number HOSE BORE DIMENSIONS
DASH D L
00TFO0-04 6 04 14.5 31
00TFO0-05 8 05 16.5 30.6
00TFO0-06 10 16 19 32
00TFO0-08 12 08 24 35
00TFO-10 16 10 27 37
00TFO0-12 20 12 30.1 43
00TFO-16 25 16 38 53
i
) XTC
. ‘ SAE 100R1AT/SAE 100R2AT
i. FERRULE FOR SAE 100R1AT/SAE 100R2AT
PART Number HOSE BORE DIMENSIONS
DN DASH D L
XTC-04 5 04 22.3 25.5
XTC-04 10 06 26.6 26.3
XTC-04 12 08 30 27
XTC-04 16 10 33 29.5
XTC-04 20 12 37 33.7
XTC-04 25 16 47.5 42
XTC-04 32 20 56 47
XTC-04 40 24 63 51
XTC-04 50 32 76 79
XTC-04 32 20 60 47
XTC-04 38 24 66 51
XTC-04 50 32 79.5 79

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com



ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

00710

FERRULE FOR TEFLON HOSE

1l
kbl

L

00405

DIN20023 4SH.R12

INTERLOCK FERRULE FOR DIN 20023 4SH.R12 HOSE

HOSE BORE DIMENSIONS
PART Number
DN DASH L
00710-06 10 06 28.6
00710-06 12 08 30
00710-06 20 12 38
00710-06 25 16 45.9
00710-06 32 20 54
00710-06 40 24 57
00710-06 50 32 69.8
00621
= R13
INTERLOCK FERRULEFOR HOSE
HOSE BORE DIMENSIONS

PART Number DN DASH L
00621-12 20 12 53
00621-16 25 16 66
00621-20 32 20 88.5
00621-24 40 24 102
00621-32 50 32 108

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

HOSE BORE DIMENSIONS
PART Number
DN DASH D L
00405-08 12 08 30.5 46
00405-12 20 12 40 56
00405-16 25 16 49 64
00405-20 32 20 56 70
00405-24 40 25 64 82.5
00405-32 50 32 80 83
: | = 00605
il gi 1]
INTERLOCK FERRULE FOR R13 SIRENGTHEN HOSE
L
HOSE BORE DIMENSIONS
PART Number
DN DASH D L
00605-08 12 08 33 46
00605-12 20 12 40 55
00605-16 25 16 49 64
00605-20 32 20 61 70
00605-24 40 24 70 82.5
00605-32 50 32 85 83
|
- H 00601
- R13
' INTERLOCK FERRULE FOR R13 STRENGTHEN
HOSE BORE DIMENSIONS
PART Number
DN DASH D L
00601-20 32 20 59.5 87
00601-24 40 24 71 100
00601-32 50 32 87 108

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com




ANERDAHYDRAULIC SWAGED HOSE FITTI NG
A .
|:t: T 10311
E.m @)
_‘ t')”_l | O-RING METRIC MALE FLAT SEAL
o7 REF.JB/T988
PART Number = HOSE BORE DIMENSIONS

THREAD E DN DASH A C S1
10311-14-04 M14x 1.5 6 04 23.5 11 17
10311-16-05 M16x 1.5 8 04 23.5 11 17
10311-18-06 M18x 1.5 10 06 23.5 11 19
10311-22-08 M22x 1.5 12 08 26.5 12 22
10311-27-10 M27x 1.5 16 10 31.5 13 27
10311-30-12 M30x 1.5 20 12 33.5 14 32
10311-36-14 M36x 2 22 14 35.5 16 38
10311-39-16 M39x 2 25 16 39 16 41
10311-45-20 M45x 2 32 20 44.5 20 46
10311-52-24 M52x 2 40 24 47.5 22 55
10311-64-32 M64x 2 50 32 52.5 27 65

1. 2. 10312-xXx-XX
Note 1.Forues with braided hoses 2.If use with spiral hoses,hose fitting series number is 10312-xx-Xx.

(g b

o)

20211-T METRICFEMALEFLAT SEAL
REF.GB/T9065.3

gl 20211

H

PART Number = HOSE BORE DIMENSIONS
THREAD E DN DASH C
20211-10-02 M10x 1 4 02 14 6 14
20211-12-03 M12x 1.25 5 03 14 8 17
20211-14-04 M14x 1.5 6 04 15.5 8.5 19
20211-16-05 M16x 1.5 8 05 16.5 8 22
20211-18-06 M18x 1.5 10 06 17.5 8 24
20211-20-06T M20x 1.5 10 06 16 10 24
20211-22-08 M22x 1.5 12 08 18.5 10 27
20211-24-08T M24x 1.5 12 08 16.5 11 30
20211-27-10T M27x 1.5 16 10 19.5 10 32
20211-30-12 M30x 1.5 20 12 21.5 11 36
20211-33-14 M33x 2 22 14 21.5 13 41
20211-36-14T M36x 2 22 14 20 13 41
20211-39-16T M39x 2 25 16 23.5 13 46
20211-42-20 M42x 2 32 20 26 15 50
20211-45-20T M45x 2 32 20 25 15 55
20211-52-24T M52x 2 40 24 25 17 60
20211-60-28T M60x 2 45 28 26 20 70
20211-64-32T M64x 2 50 32 26 23 75
1. 2. 20212-xx-Xx
Note 1.Forues with braided hoses 2.I1f use with spiral hoses,hose fitting series number is 20212-xx-Xx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

P — 45°
ol =[‘ _T!;LJ—““J 45° METRIC FEMALE FLAT SEAL 10611
A\\f\‘/ 4 20241 \-,,:_ 20241_T REF.GB/T9065.3 60°
PART Number E HOIoE BORE DIMENSIONS METRIC MALE DOUBLE USE FOR 60°
THREADE DN DASH a C H S2 CONE SEAT OR BONDED SEAL
20241-14-04 M14x 1.5 6 04 40.5 8.5 18.5 19
20241-16-05 M16x 1.5 8 05 44.4 8.5 20 22
20241-18-06 M18x 1.5 10 06 45.7 8 21.4 24 E HOSE BORE DIMENSIONS
20241-22-08 M22x 1.5 12 08 58.9 10 24 27 PART Number -\ € DN DASH A c =
20241-27-10T M27x 1.5 16 10 68.8 10 24.3 32 10611-14-04 M14x 1.5 6 04 23 5 11 19
20241-30-12 M30x 1.5 20 12 78.1 11 30 36 10611-16-05 M16x 1.5 8 05 26.5 12 22
20241-36-14T M36x 2 22 14 77.3 13 27 41 10611-18-06 M18x 1.5 10 06 29 5 12 24
20241-39-16T M39x 2 25 16 83.9 13 29.7 46 10611-22-08 M22x 1.5 12 08 32 14 27
20241-42-20 M42x 2 32 20 97.3 15 36.6 50 10611-26-10 M26x 1.5 16 10 35 16 32
20241-45-20T M45x 2 32 20 94.5 15 33.8 55 10611-27-10 M27x 2 16 10 37 18 32
20241-52-24T M52x 2 40 24 108.5 17 37.7 60 10611-30-12 M30x 2 20 12 38 18 36
20241-60-28T M60x 2 45 28 118.7 20 43.6 70 10611-42-20 M42x 2 32 20 46 20 50
20241-64-32T M64x 2 50 32 127.8 23 45.6 75 10611-45-20 M45x 2 32 20 46 20 55
Notell 1.For ues with braided hoses i:lf use with spiral hoses,hosze(:ﬁ?iigxze):ixes number is 20242-xx-XX. L Sl e 2 < 2t - - 2
10611-52-24 M52x 2 40 24 46 20 60
$ 1. 2. 10612-xX-XX
90° Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 10612-xx-xx.
= 90° METRIC FEMALE FLAT SEAT
y 20291-T REF.GB/T9065.3 - y
PART Number HOSE BORE DIMENSIONS . | 50°
THREAD E DN DASH A C H ERR - _J ot - |_||_||J|_||_| METRIC FEMALE 60° CONE
20291-12-02 M12x 1.25 4 02 26.5 8 30.5 17 _!_ll ' ‘n—d_u_l -
20291-14-04 M14x 1.5 6 04 30 8.5 34 19 e 20611 ~., 20611-T
20291-16-05 M16x 1.5 8 05 34 8 38 22
20291-18-06 M18x 1.5 10 06 35.75 8 41.3 24 E HOSE BORE DIMENSIONS
PART Number
20291-22-08 M22x 1.5 12 08 41 10 48 27 THREAD E DN DASH A C S2
20291-24-08T M24x 1.5 12 08 41 11 45.5 30 20611-14-04 M14x 1.5 6 04 18 5.5 19
20291-27-10T M27x 1.5 16 10 56 10 51 32 20611-16-05 M16x 1.5 8 05 19 5.5 22
20291-30-12 M30x 1.5 20 12 66.2 11 63.5 36 20611-18-06 M18x 1.5 10 06 20 5.5 24
20291-33-14 M33x 2 22 14 71.2 13 65 41 20611-22-08 M22x 1.5 12 08 22.5 6 27
20291-36-14T M36x 2 22 14 71.2 13 61 41 20611-26-10 M26x 1.5 16 10 25.5 6 32
20291-39-16T M39x 2 25 16 76.7 13 67.5 46 20611-27-10T M27x 2 16 10 25.5 6 32
20291-42-20 M42x 2 32 20 91.5 15 82.5 50 20611-30-12 M30x 2 20 12 26.5 6 36
20291-45-20T M45x 2 32 20 91.5 15 78.5 55 20611-36-16 M36x 2 25 16 30 6.5 41
20291-52-24T M52x 2 40 24 109.4 17 92 60 20611-39-16T M39x 2 25 16 30 6.5 46
20291-60-28T M60x 2 45 28 119.9 20 106.5 70 20611-45-20T M45x 2 32 20 31 8.5 55
20291-64-32T M64x 2 50 32 130.95 23 113.3 75 20611-52-24T M52x 2 40 24 32 10 60
1. 2. 20292-xx-XX 1. 2. 20612-xx-XX
Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 20292-xx-XXx. Note 1.Forues with braided hoses 2.I1f use with spiral hoses,hose fitting series number is 20612-xx-XXx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

. = R ! METRIC FEMALE MULTISEAL
_ purmn _ L 20111 =7, 20111-T
= ¥ ,-:_f_fﬂ]jm]]ﬂ_ 45° 60° HOSE BORE DIMENSIONS
4 45° METRIC FEMALE 60° CONE PART Number :
i )/, THREADE DN DASH C
ﬁ,_,::j‘-\‘ e 20641-T 20111-10-03 M10x 1 5 03 18 2.5 14
20111-12-04 M12x 1.5 6 04 18.5 4 17
20111-14-04 M14x 1.5 6 04 19.5 4.5 19
E HOSE BORE DIMENSIONS 20111-16-05 M16x 1.5 8 05 20 4.5 22
PART Number o ocADE DN DASH A c H S92 20111-18-06 M18x 1.5 10 06 21.5 4 24
20641-14-04 M14x 1.5 6 04 42.7 5.5 20.6 19 20111-20-06T M20x 1.5 10 06 20.5 5.5 24
20641-16-05 M16x 1.5 8 05 45.1 5.5 21.8 22 20111-22-08 M22x 1.5 12 08 23.5 5 27
20641-18-06 M18x 1.5 10 06 47.4 5.5 23.2 24 20111-24-08T M24x 1.5 12 08 22 5.5 30
20641-22-08 M22x 1.5 12 08 61.8 6 26.8 27 20111-27-10T M27x 1.5 16 10 23.5 7 32
20641-36-14T M36x 2 22 14 81.9 6.5 31.6 41 20111-30-12 M30x 2 20 12 26.5 7 36
20641-39-16T M39x 2 25 16 88.5 6.5 34.3 46 20111-36-14T M36x 2 22 14 26 7 41
20641-45-20T M45x 2 32 20 99.1 8.5 38.4 55 20111-39-16T M39x 2 25 16 29.5 7 46
20641-52-24T M52x 2 40 24 113.4 10 42.7 60 20111-42-16T M42x 2 25 16 30 8.5 50
1 5 20642-xX-xX 20111-45-20T M45x 2 32 20 31.5 8.5 55
Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 20642-xx-xx. 20111-52-24T M52x 2 40 24 33 9 60
20111-64-32T M64x 2 50 32 35 14 75
1. 2. 20112-xX-XX
A Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 20112-xx-xx.
2
90° 60° - \,_; | 45°
o o P g 45° METRIC FEMALE MULTISEAL
) 20691-T 90° METRIC FEMALE 60° CONE “”2 50141-T

o SR N et HOSE BORE DIMENSIONS
THREAD E DN DASH A C H
20141-10-03 M10x 1 5 03 41.1 2.5 20.7 14
PART Number E A DIMENSIONS 20141-12-04 M12x 1.5 6 04 43 4 22 17
THREADE L Diselr, o & a S2 20141-16-06 M16x 1.5 10 06 47.4 4.5 24.1 22
20691-14-04 M1dx 1.5 6 04 30 55 37 19 20141-18-06 M18x 1.5 10 06 48.5 4 24.2 24
AU LRSS S8 g 3 £ 55 <09 ez 20141-20-06T M20x 1.5 10 06 48.2 5.5 23.9 27
20691-18-06 M18x 1.5 10 06 35.3 5.5 43.8 24 50041908 M22x 1.5 B - — - — 27
Y220 S £ L U3 gl g 2 20 20141-24-08T M24x 1.5 12 08 61.1 5.5 26.1 30
20691-36-16 M36x 2 25 16 78 6.5 76.5 41 20141-30-12 M30x 2 20 iz 80.9 5 33.5 -
20691-36-14T M36x 2 22 14 71.2 6.5 67.5 41 20141-36-14T M36x 2 29 14 83 - 32 64 a1
20691-39-16T M39x 2 25 16 6.7 6.5 4 46 20141-39-16T M39x 2 25 16 88.2 7 33.95 | 46
AV E 2] b3S 2 22 20 Sho £ s 5 20141-45-20T M45x 2 32 20 99.1 8.5 38.4 55
20691-52-24T M52x 2 40 24 109.4 10 99 60 20141-52-24T M52x 2 40 24 114.1 9 43.4 60
1. 2. 20692-xx-xx 1. 2. 20142-XX-XX
Note 1.Forues with braided hoses 2.I1f use with spiral hoses,hose fitting series number is 20692-xx-XXx. Note 1.Forues with braided hoses 2.I1f use with spiral hoses,hose fitting series numbe is 20142-xx-Xxx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

&

i

74°
METRIC FEMALE 74° cone
REF.GB/T9065.1

90°
90° METRIC FEMALE MULTISEAL

T 20711-T

o T 20191 20191-T ART NUmber E HOSE BORE DIMENSIONS
THREAD E DN DASH A C S2
PART Number THREAIE . SSSE BOEiSH - %‘MENS'?_:\'S — 20711-12-03 M12x 1.5 5 03 14 10 17
20711-12-04 M12x 1.5 6 04 14.5 10 17
20191-10-03 M10x 1 5 03 27 2.5 35.5 14 20711-14-04 M14x 1.5 6 04 15.5 8.5 19
20191-16-05 M16x 1.5 8 05 33 4.5 41.5 22 20711-16-05 M16x 1.5 ) 05 16.5 3 292
20191-18-06 M18x 1.5 10 06 35.3 4 45.3 24 20711-18-06 M18x 1.5 10 06 17.5 10 24
20191-20-06T M20x 1.5 10 06 35.3 5.5 44.8 24 20711-20-06T M20x 1.5 10 06 16 10 24
20191-22-08 M22x 1.5 12 08 41 5 52.5 27 20711-22-08 M22x 1.5 12 08 18.5 10 27
20191-24-08T M24x 1.5 12 08 41 5.5 51 30 20711-24-08T M24x 1.5 12 08 16.5 11 30
20191-27-10T M27x 2 16 10 56 5.5 55.5 32 20711-27-10T M27x 1.5 16 10 195 11 32
20191-30-12 M30x 2 20 12 67.5 6 68.5 36 20711-30-12 M30x 1.5 20 12 21.5 11 36
20191-36-14T M36x 2 22 14 71.2 7 69 41 20711-33-12T M33x 2 20 12 20 13 41
20191-39-16T M39x 2 25 16 76.7 7 73.5 46 20711-36-14T M36x 2 22 14 20 14 41
20191-45-20T M45x 2 32 20 91.5 8.5 85 55 20711-39-16T M39x 2 25 16 235 14 46
20191-52-24T M52x 2 40 24 109.4 9 100 60 20711-42-16T M42x 2 25 16 235 15 50
20191-64-32T M64x 2 50 32 131.75 14 122.3 75 20711-42-20 M42x 2 32 20 26 15 50
Notell 1.For ues with braided hoses gzlf use with spiral hoses,hoszofi?iié])(:::ixes numberis 20192-xx-XxX. 20711-45-20T Ma5x 2 32 20 25 15 25
20711-52-24T M52x 2 40 24 25 17 60

1 O 7 1 1 Notell 1.For ues with braided hoses g:lf use with spiral hoses,hosiﬁ?tﬁigxze);ixes numberis 20712-Xx-XX.
74°
GB METRIC MALE 74° cone 20741
REF.GB/T5628 45° 74°
45° GB METRIC FEMALE 74° cone SEAT
E HOSE BORE DIMENSIONS REF.GB/T9065.1L
PART Number

THREAD E DN DASH A C S1 PART Number = HOSE BORE DIMENSIONS
10711-12-03 M12x 1.5 5 03 26.5 15.7 14 THREAD E DN DASH A C H S2
10711-14-04 M14x 1.5 6 04 30.5 18 17 20741-14-04 M14x 1.5 6 04 40.5 8.5 18.5 19
10711-16-05 M16x 1.5 8 05 31.5 19 17 20741-16-05 M16x 1.5 8 05 44.4 8 20 22
10711-18-06 M18x 1.5 10 06 31.5 19 19 20741-18-06 M18x 1.5 10 06 45.7 10 21.4 24
10711-22-08 M22x 1.5 12 08 35 19.5 22 20741-22-08 M22x 1.5 12 08 58.9 10 24 27
10711-24-08 M24x 1.5 12 08 37 20 24 20741-27-10 M27x 1.5 16 10 71.2 11 26.4 32
10711-27-10 M27x 1.5 16 10 38.5 20.5 27 20741-30-12 M30x 1.5 20 12 78.1 11 30 36
10711-30-12 M30x 1.5 20 12 42.5 23 32 20741-33-12 M33x 2 20 12 77.4 13 30 41
10711-33-12 M33x 2 20 12 45 26 36 20741-36-14 M36x 2 22 14 79.8 14 29.6 41
10711-36-14 M36x 2 22 14 45 26 38 20741-36-16 M36x 2 25 16 85.7 14 31.5 41
10711-39-16 M39x 2 25 16 48 27.5 41 20741-39-16 M39x 2 25 16 86.1 14 31.8 46
10711-42-20 M42x 2 32 20 52 28.5 46 20741-45-20W M45x 2 32 20 97 15 36.2 55
10711-45-20 M45x 2 32 20 52 28.5 46 20741-52-24W M52x 2 40 24 112.9 17 40.9 60

1. 2. 20742-xx-XxX 1. 2. 20742-xx-xX
Note 1.Forues with braided hoses 2.I1f use with spiral hoses,hose fitting series number is 20742-xx-Xxx. Note 1.Forues with braided hoses 2.If use with spiral hoses,hose fitting series number is 20742-xx-Xx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



SWAGED HOSE FITTING

ANERDAHYDRAULIC

ANERDAHYDRAULIC

SWAGED HOSE FITTING

20791

90° 74°

90° GB METRIC MALE 74° CONE SEAT
REF.GB/T9065.1

24° 0]

. JIFII.

. 1ISO12151-2-CON 3865
\_,__r.‘

METRIC FEMALE 24° CONE RING L.T.

= HOSE BORE DIMENSIONS
PART Number

THREAD E DN DASH A C H S2
20791-12-04 M12x 1.5 6 04 30 10 33.5 17
20791-14-04 M14x 1.5 6 04 30 8.5 34 19
20791-16-05 M16x 1.5 8 05 34 8 38 22
20791-18-06 M18x 1.5 10 06 35.3 10 41.3 24
20791-22-08 M22x 1.5 12 08 41 10 48 27
20791-27-10 M27x 1.5 16 10 56.5 11 54 32
20791-30-12 M30x 1.5 20 12 66.2 11 63.5 36
20791-33-12 M33x 2 20 12 65.5 13 63.5 41
20791-36-14 M36x 2 22 14 71.2 14 64.5 41
20791-39-16 M39x 2 25 16 76.7 14 70.5 46
20791-45-20W M45x 2 32 20 91.5 15 83 55
20791-52-24W M52x 2 40 24 110.7 17 96.5 60

1 2. 20792-xx-Xx

Note

1.For ues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 20792-xx-xx.

" 15k
"4 20411 = 20411-T
= HOSE BORE (e) DIMENSIONS
PART Number

THREAD E DI\ DASH TUBE.O.D O RING A C S2
20411-12-04 M12x 1.5 6 04 6 004.5% 1.5 26 1 17
20411-14-04 M14x 1.5 6 04 8 006.5% 1.5 27.5 2 19
20411-16-05 M16x 1.5 8 05 10 008.0x 1.5 28 2 22
20411-18-06 M18x 1.5 10 06 12 010.0x 1.5 29 2.5 24
20411-22-08 M22x 1.5 12 08 15 012.0x 2.0 32 2.5 27
20411-26-10 M26x 1.5 16 10 18 015.0x 2.0 | 35 2.5 32
20411-27-10T M27x 1.5 16 10 18 015.0x 2.0 28 2.5 32
20411-30-10T M30x 2 16 10 22 020.0x 2.0 35 4 36
20411-30-12 M30x 2 20 12 22 020.0x 2.0 38 4 36
20411-36-14T M36x 2 22 14 28 026.0x 2.0 36 4 41
20411-45-16T M45x 2 25 16 35 032.0x 2.5 41 5 55
20411-45-20T M45x 2 32 20 35 032.0x 25 | 42 5 55
20411-52-24T M52x 2 40 24 42 038.0x 2.5 44 55 60

1. 2. 20412-xx-Xx

Note 1.Forues with braided hoses

L]

45° 24° O

1ISO12151-2-DIN 3865

2.1f use with spiral hoses,hose fitting series number is 20412-xx-XX.

45° METRIC FEMALE 24° CONE RING L.T.

HOSE BORE DIMENSIONS

PART Number THREAD E DN DASH TUBE.O.D ORING C H

20441-14-04 M14x 1.5 6 04 8 00.65x 1.5 | 49 2 27 19
20441-16-05 M16x 1.5 05 10 00.80x 15| 515 |2 28.2 22
20441-18-06 M18x 1.5 10 06 12 010.0x 15| 54.2 | 25| 29.9 24
20441-22-08 M22x 1.5 12 08 15 012.0x 20 | 68.1 | 25| 33.2 27
20441-26-10 M26x 1.5 16 10 18 015.0x 2.0 | 80.7 | 2.5 | 35.9 32
20441-27-10T | M27x 1.5 16 10 18 015.0x 2.0 | 72 2.5 | 27.7 32
20441-30-10T | M30x 2 16 10 22 020.0x 2.0 | 75.1 30.3 36
20441-30-12 M30x 2 20 12 22 020.0x 2.0 | 89.1 | 4 41.7 36
20441-36-12T | M36x 2 20 12 28 026.0x 2.0 | 82 4 33.9 41
20441-36-14T | M36x 2 22 14 28 026.0x 2.0 | 83.7 | 4 33.3 41
20441-45-20T | M45x 2 32 20 35 032.0x 25| 99.6 |5 40.8 55
20441-52-24T | M52x 2 40 24 42 038.0x 2.5 | 117 55| 45.8 60

] : 10411
247 240
ol M_H_UJUU_IU_I__, METRIC FEMALE 24° CONE SEATL.T.
., 1SO8434-1-DIN 3861
AR Nurber E HOSE BORE DIMENSIONS
THREAD E DN DASH TUBE.O.D A C S2
10411-12-04 M12x 1.5 6 04 6 20.5 10 12
10411-14-04 M14x 1.5 6 04 8 20.5 10 14
10411-16-05 M16x 1.5 8 05 10 22.5 11 17
10411-18-06 M18x 1.5 10 06 12 21.5 11 19
10411-22-08 M22x 1.5 12 08 15 26 12 24
10411-26-10 M26x 1.5 16 10 18 27 12 27
10411-27-10 M27x 1.5 16 10 18 32 14 30
10411-30-12 M30x 2 20 12 22 20 14 32
10411-36-16 M36x 2 25 16 28 315 14 38
10411-45-20 M45x 2 32 20 35 36 16 46
10411-52-24 M52x 2 40 24 42 38 16 55
1 2. 10412-xx-XX

Note

1.For ues with braided hoses 2.1f use with spiral hoses,hose fitting series numbe is 10412-xx-xx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com

1. 2.
Note 1.Forues with braided hoses

20442-xXX-XX

(Tel) 86-574-8847111  (Fax) 86-574-8847116

2.If use with spiral hoses,hose fitting series number is 20442-xx-XXx.

(URL) Http //www.ardyy.com



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

90° 24° 0 sl L : " i ©
. 90° METRIC FEMALE 24° CONE O-RING L.T. Tl wmﬂl—ﬂl H]J_II_UIMJ_L METRIC FEMALE 24° CONE O-RING H.T.
1SO12151-2-DIN 3865 o ' 1SO12151-1-DIN 3865
20491-T 20511 57 20511-T
* E HOSE BORE o DIMENSIONS
PARTNuUmber - oeaD E DN DASH TUBE.O.D ORING A R
HOSE BORE o DIMENSIONS

VNSRS W SN el TuEEe| @ A N —T 20511-14-04 M14x 1.5 6 04 6 0045x 1.5 | 28.5 | 1.1 | 19
20491-12-04 | M12x 1.5 6 04 6 004.5x 1.5 | 30 1 |445] 17 20511-16-05 M16x 1.5 8 05 8 ©06.5x 1.5 | 29 15 |22
~osoiia0a | Misric 5 o 5 o065 15 | 30 > Tac 1o 20511-18-06 M18x 1.5 10 06 10 008.0x 1.5 | 29 2 24
204911605 | Wiox 15 . o o 505.0% 15 | 33 > T205 22 20511-20-08 M20x 1.5 12 08 12 010.0x 1.5 | 315 | 25 | 27
20491-18-06 | M18x 1.5 10 06 12 010.0x 1.5 | 35.3 | 2.5 |53.3| 24 20511-22-08 M22x 1.5 12 08 14 O11.0x20 | 31.5 | 2.5 | 27
20491-22-08 M22x 1.5 12 08 15 012.0x 2.0 | 41 25 |61 |27 20511-24-08T M24x 1.5 12 08 16 013.0x 2.0 | 30 3 30
20491-26-10 | M26x 1.5 16 10 18 015.0x 2.0 | 56.5 | 2.5 |67.5| 32 20511-30-10T M30x 2 16 10 20 O16.3x 2.4 | 36 3 36
20491-27-10T | M27x 1.5 16 10 18 015.0x 2.0 | 56.5 | 2.5 |67.5| 32 20511-30-12 M30x 2 20 12 20 O16.3x 2.4 | 39 3 36
20491-30-10T | M30x 2 16 10 22 0200x 2.0 | 56.5 | 4 |57.2| 36 20511-36-127 M36x 2 20 12 25 ©20.3x 24 | 36 3 41
20491-30-12 | M30x 2 20 12 22 0200x 2.0 | 655 | 4 |80 |36 20511-36-14T M36x 2 22 14 25 ©20.3x 24 | 36 3 41
20491-36-12T | M36x 2 20 12 28 026.0x 2.0 | 655 | 4 |69 | 41 20511-42-121 M42x 2 20 12 30 0253x 24 | 40 5 50
20491-36-14T | M36x 2 22 14 28 026.0x 2.0 | 71.2 4 |70 |41 20511-42-16T M42x 2 25 16 30 025.3x 2.4 | 41 > 50
20491-45-16T | M45x 2 25 16 35 0320x25 | 76,7 | 5 |75 |55 20511-52-20T M52x 2 32 20 38 033.3x 24 | 44 65 | 60
20491-45-20T | M45x 2 32 20 35 032.0x 25 | 91.5 | 5 |88.5| 55 20511-52-24T M52x 2 40 24 38 033.3x 24 | 44 65 | 60

20491-52-24T M52x 2 40 24 42 038.0x 2.5 | 109.4 55 [104 | 60 Notell 1.For ues with braided hoses g If use with spiral hoses, hosi(;ﬁ%lﬁgx;(eflxes number is 20512-xx-XX.

1. 2. 20492-xx-xX

Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 20492-xx-xx.
45° 24° O
45° METRIC FEMALE 24° CONE O-RING H.T.

1SO12151-2-DIN 3865
24° HOSE BORE o DIMENSIONS

METRIC MALE 24° CONE SEAT H.T. PART Number THREAD E DN DASH TUBE.O.D ORING C H
1S08434-1-DIN 3861 20541-14-04 M14x 1.5 6 04 6 004.5x 1.5 | 50.1 1.1 | 28 19
20541-16-05 | M16x 1.5 8 05 8 006.5x 1.5 | 52.2 | 1.5| 28.9 | 22
20541-18-06 | M18x 1.5 10 06 10 008.0x 15 | 543 |2 | 206 | 24
PART Number THREAED . HDONSE BOSESH R D'MENS'ON; 20541-20-08 | M20x 1.5 12 08 12 010.0x 15 | 67.8 | 2.5| 32.8 | 27
20541-22-08 | M22x 1.5 12 08 14 011.0x 20 | 68.1 | 2.5| 33.2 | 27
10511-16-04 M16x 1.5 6 04 8 26.5 12 17 20541-24-08T | M24x 1.5 12 08 16 0130x 2.0 | 625 |3 | 27.5 | 30
101l L i b 95 A2 £ i L 8.5 12 Le 20541-30-10T | M30x 2 16 10 20 016.3x 24 | 758 |3 | 31 36
10511-20-06 M20x 1.5 10 06 12 26.5 12 22 20541-30-12 | M30x 2 20 12 20 016.3x 24 | 90.5 |3 | 42.4 | 36
LUE 20 A L L2 Ui — — v 20 20541-36-12T | M36x 2 20 12 25 0203x 2.4 | 82.7 |3 | 346 | 41
10511-30-10 M30x 2 16 10 20 36 16 32 20541-36-14T | M36x 2 22 14 25 0203x 2.4 | 844 |3 | 34 41
s -t L 2 — 1 - D e - 20541-42-16T | M42x 2 25 16 30 0253x 24 | 923 |5 | 36.8 | 50
10511-42-16 Ma2x 2 25 16 30 44 20 46 20541-52-20T | M52x 2 32 20 38 033.3x 2.4 | 103.4 | 6.5 | 41.2 | 60
Losll 2 20 2 2 2 20 S Z 22 = 20541-52-24T | M52x 2 40 24 38 0333x 2.4 | 115.9 | 6.5 | 45.1 | 60

1. 2. 10512-xx-XX 1. 2. 20542-xx-xX
Note 1.Forues with braided hoses 2.I1f use with spiral hoses,hose fitting series number is 10512-xx-Xxx. Note 1.Forues with braided hoses 2.I1f use with spiral hoses,hose fitting series number is 20542-xx-xx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

90° 24° O 50011
90° METRIC FEMALE 24° CONE O-RINGH.T.
1ISO12151-2-DIN 3865 METRIC STANDPIPE STRAIGHT
DIN 2353
20591-T
PART Number HOSE BORE DIMENSIONS NOTE
HOSE BORE o DIMENSIONS TUEE 00 DN DASH A <
PART Number THREAD E DN DASH TUBE.O.D ORING A C H 50011-06-04 6 6 04 29 22
20591-14-04 M14x 1.5 6 04 6 004.5x 1.5 | 30 1.1 47.5| 19 50011-10-05 10 8 05 31 23
20591-16-05 M16x 1.5 8 05 8 006.5x 1.5 | 33 1.5 |51 22 50011-12-08 12 12 08 33 23
20591-18-06 M18x 1.5 10 06 10 008.0x 1.5 | 35.3 2 52.8| 24 50011-15-08 15 12 08 355 25
20591-20-08 M20x 1.5 12 08 12 010.0x 1.5 | 41 25 |61 27 50011-18-10 18 16 10 36.5 26
20591-22-08 M22x 1.5 12 08 14 011.0x 2.0 | 41 25 |61 |27 °0011-22-12 22 20 12 a4 28
20591-24-08T | M24x 1.5 12 08 16 013.0x 2.0 | 41 3 53 | 30 °0011-28-16 28 25 16 ar 30
20591-30-10T M30x 2 16 10 20 016.3x 2.4 | 56.5 3 60.5| 36 50011-35-20 35 32 20 56 36
20591-30-12 M30x 2 20 12 20 016.3x 2.4 | 65.5 3 81 36 50011-42-24 42 40 24 62 40
20591-36-12T M36x 2 20 12 25 020.3x 2.4 | 66.2 3 70 41 50011-08-04 08 6 04 31 24
20591-36-14T M36x 2 22 14 25 020.3x 2.4 | 71.2 3 71 41 50011-10-04 10 6 04 35 26
20591-42-16T M42x 2 25 16 30 025.3x 2.4 | 78 5 77.5| 50 50011-12-05 12 8 05 35.5 26
20591-52-20T M52x 2 32 20 38 033.3x 2.4 | 93 6.5 89 60 50011-14-06 14 10 06 39.5 29
20591-52-24T M52x 2 40 24 38 033.3x 2.4 | 109.4 6.5 103 | 60 50011-14-12 14 20 12 455 29
1 2. 20592-xx-xX 50011-16-08 16 12 08 41 30
Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 20592-xx-xx. 50011-16-10 16 16 10 455 30
50011-20-12 20 20 12 52.5 36
50011-25-16 25 25 16 57 40
50011-30-16 30 25 16 63 44
50011-30-20 30 32 20 64 44
50011-38-16 38 25 16 69 50
50011-38-20 38 32 20 70 50
1. 2. 50012-xx-xx
Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 50012-xx-Xxx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

50041

45° 50091

45° METRIC STANDPIPE STRAIGHT — 90°

DIN 2353 90° METRIC STANDPIPE STRAIGHT

DIN 2353
PART Number HOSE BORE DIMENSIONS NOTE
TUBE.O.D DN A C H
50041-06-03 6 47.8 22 27.5 HOSE BORE DIMENSIONS
50041-06-04 6 6 52.2 22 30.1 PART Number  — o 5 DN DASH c H
50041-08-05 8 55.7 24 32.4 50091-06-04 5 5 04 30 » 48
50041-08-06 8 10 57.9 24 331 50091-08-06 8 10 06 35.8 24 | 57.8
50041-10-05 10 8 54 23 30.6 50091-10-06 10 10 06 35.3 23 | 553
50041-10-06 10 10 56.1 23 31.3 50091-12-08 12 12 08 a1 23 67
50041-12-06 12 10 58.5 23 34.5 50091-15-08 15 12 08 a1 o5 65
50041-12-08 12 12 2.4 23 374 50091-18-10 18 16 10 56.5 26 | 73
50041-15-06 15 10 59.3 25 34.5 £0091-22-12 » 20 P 655 8 86
50041-15-08 15 12 70.6 25 35.7 50091-28-16 28 25 16 76.7 30 | 955
50041-18-08 18 12 3.4 26 38.5 50091-35-20 35 32 20 915 36 | 1125
50041-18-10 18 16 84.6 26 39.8
50041-22-10 22 16 87.1 28 42.3 50091-08-04 08 6 04 30 24 52.2
50041-22-12 22 20 93.3 28 45.9 50091-12-05 12 8 05 33 26 60.5
50041-22-16 22 25 100.9 28 46.7 50091-14-06 14 10 06 35.3 29 63.8
50041-28-16 28 25 103.7 30 49.5 50091-14-12 14 20 12 66.2 29 83
50041-35-20 35 32 118.5 36 57.8 50091-16-08 16 12 08 42 30 73
50041-08-04 08 6 53.6 24 31.5 50091-16-10 16 16 10 56.5 30 77.5
50041-10-04 10 6 54 26 31.9 50091-20-12 20 20 12 65.5 36 95.5
50041-12-01 12 6 57.1 26 35.1 50091-25-16 28 25 16 76.7 40 103.5
50041-12-05 12 8 59.2 26 35.9 50091-30-16 30 25 16 78 40 109.5
50041-14-06 14 10 61.6 29 37.3 50091-30-20 30 32 20 91.5 44 120.5
50041-14-08 14 12 73.8 29 38.8 50091-38-16 38 25 16 76.7 50 115.5
50041-14-12 14 20 91.9 29 43.8 50091-38-20 38 32 20 91.5 50 126.5
50041-16-08 16 12 76.6 30 41.7 1. 2. 50092-xX-XX
50041-16-10 16 16 87.8 30 43 Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 50092-xx-Xx.
50041-20-10 20 16 92.8 36 48
50041-20-12 20 20 100.7 36 52.6
50041-25-12 25 20 101.8 40 54.4
50041-25-16 25 25 109.4 40 55.2
50041-30-16 30 25 113.6 44 59.4
50041-30-20 30 32 124.2 44 63.5
50041-38-16 38 25 117.9 50 63.6
50041-38-20 38 32 128.4 50 67.7
1. 2. 50042-xx-XxX
Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 50042-xx-XXx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



SWAGED HOSE FITTING SWAGED HOSE FITTING

ANERDAHYDRAULIC ANERDAHYDRAULIC

[ i
| A
12211 L_!——a' —H]]]]:[HHHH JL_”"“_ BSP FEMALE MULTISEAL
¢} e i M
BSP MALE O-RING SEAL =
22111 22111-W 22111-T
E HOSE BORE DIMENSIONS
PART Number
PART Number = HOSE BORE (o) DIMENSIONS THREAD E DN DASH A C S1
THREAD E D]\ DASH O RING A C S1 22111-04-04 G1/4"x 19 6 04 19.5 4 19
12211-04-04 G1/4"x 19 6 04 0111 23.5 11 19 22111-06-05 G3/8"x 19 8 05 20 5 22
12211-06-06 G3/8"x 19 10 06 0113 26.5 12 22 22111-06-06 G3/8"x 19 10 06 20.5 5 22
12211-08-08 G1/2"x 14 12 08 0115 34 14 27 22111-08-08 G1/2"x 14 12 08 23 6 27
12211-10-10 G5/8"x 14 16 10 0910 36 15.5 30 22111-10-10 G5/8"x 14 16 10 25 8 30
12211-12-12 G3/47x 14 20 12 0119 38 15.5 32 22111-12-12 G3/4"x 14 20 12 26 9.5 32
12211-16-16 G1™x 11 25 16 0217 44.5 18.5 41 22111-16-14 G1™x 11 22 14 26.5 11 41
12211-20-20 G1.1/4"x 11 32 20 0222 46 20 50 22111-16-16 G1"x 11 25 16 28 11 41
1 2. 19919-3xxx 22111-20-16T G1.1/47x 11 25 16 27.5 11 50
Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is11212-xx-xx. 22111-20-20W G1l.1/4"x 11 32 20 31.5 10 50
22111-24-24W G1.1/2"x 11 40 24 37 11.5 55
A 22111-32-32W G27x 11 50 32 34 15 70
1 2. 22112-XX-XX

1 3 O 1 1 - S P Note . 1.For ues with braided hoses 2.I1f use with spiral hoses,hose fitting series number is 22112-xx-xx.
| | | " " " | S BSPT MALE . ) . _
il 45°
2l =4 : hd_]lﬂ:l'ﬂr 45° BSP FEMALE MULTISEAL
E HOSE BORE DIMENSIONS “‘v),&
PARTNumber o e AD E DN DASH A c s1
22141 22141-T 22141-W
13011-04-04SP R1/4”"x 19 6 04 27 14.5 14
13011-06-05SP R3/8"x 19 8 05 26.5 15 17 = HOSE BORE DIMENSIONS
PART Number
13011-06-06SP R3/8"x 19 10 06 27.5 15 17 THREAD E DN DASH A C H S2
13011-08-08SP R1/2"x 14 12 08 35 20 22 22141-04-04 G1/4"x 19 6 04 43.7 4 21.6 19
13011-08-12SP R1/2"x 14 20 12 38 20 27 22141-06-05 G3/8"x 19 8 05 46.2 5 22.9 22
13011-12-08SP R3/4"x 14 12 08 37 20 27 22141-06-06 G3/8"x 19 10 06 48.1 5 23.9 22
13011-12-10SP R3/4"x 14 16 10 38 20 27 22141-08-08 G1l/2"x 14 12 08 61.8 6 26.8 27
13011-12-12SP R3/4"x 14 20 12 38.5 20 27 22141-10-10 G5/8"x 14 16 10 73.7 8 28.9 30
13011-12-16SP R3/4"x 14 25 16 39.5 20 36 22141-12-12 G3/4"x 14 20 12 80.6 9.5 33.2 32
13011-16-12SP R1"x 11 20 12 44 255 36 22141-16-14 G1"x 11 22 14 83.3 11 33 41
13011-16-16SP R1"x 11 25 16 45 255 46 22141-16-16 G1"x 11 25 16 89.2 11 35 41
13011-20-20SP R1.1/4"x 11 32 20 49.5 26.5 50 22141-20-16T G1l.1/4"x 11 25 16 91.4 9.1 37.1 50
13011-24-24SP R1.1/2"x 11 40 24 51.5 26.5 65 22141-20-20W G1l.1/4"x 11 32 20 102.9 10 41.2 50
13011-32-24SP R2"x 11 40 24 57 30 65 22141-24-24W G1l.1/2"x 11 40 24 119.8 11.5 49 55
13011-32-32SP R2"x 11 50 32 57 30 65 22141-32-32W G2"x 11 50 32 137.4 15 53 70
1 2. 13012-xx-xX 1 2. 22142-xX-XX

Note 1.Forues with braided hoses Note 1.Forues with braided hoses

2.I1f use with spiral hoses,hose fitting series number is13012-xx-xX. 2.I1f use with spiral hoses,hose fitting series number is22142-xx-xx.

(URL) Http //www.ardyy.com

(Tel) 86-574-8847111  (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111  (Fax) 86-574-8847116



SWAGED HOSE FITTING SWAGED HOSE FITTING

ANERDAHYDRAULIC ANERDAHYDRAULIC

| o0 22241
= 90° BSP FEMALE MULTISEAL 45°
45° BSP FEMALE FLAT SEAT
22191 22191-T 22191-W
PART Number = HOSE BORE DIMENSIONS
THREAD E DN DASH A C H S2
22191-04-04 G1/47x 19 04 30 4 38.5 19 E HOSE BORE DIMENSIONS
_06- " PART Number
22191-06-05 G3/8"x 19 05 33 5 42 22 THREAD E DN DASH A C H S2
22191-06-06 G3/8"x 19 10 06 35.5 5 44.8 22 92241-04-04 G1/4"x 19 6 04 40.9 8 18.8 19
22191-08-08 G1/27x 14 12 08 41 6 52 27 52981.00.00 Ga/x 1o i 06 E s 9 il 5%
22191-10-10 G5/8"x 14 16 10 56.5 8 57.8 30 22241-08-08 G1/2"x 14 12 08 58.9 10.5 24 27
et CRFee i 20 L B2 S 28 =2 22241-12-12 G3/4"x 14 20 12 77.4 13.5 30 32
22191-16-14 G1x 11 22 14 71.2 11 69.5 41 29241-16-16 G1™x 11 28 16 827 15 5 315 41
22191-16-16 G1™x 11 25 16 76.7 1 75 41 22241-20-20W G1.1/4"x 11 32 20 97.3 15.5 36.6 50
22191-20-16T G1.1/47x 11 25 16 76.7 10 78 50
1. 2. 22242-XX-XX
22191-20-20W G1.1/4"x 11 32 20 92.3 10 85.3 50 Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 22242-xx-xx.
22191-24-24W G1.1/2"x 11 40 24 109.4 11.5 108 55
22191-32-32W G2'x 11 50 32 133.1 15 123.8 70
1. 2. 22192-xx-XX
Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is22192-xx-xx.
C A
LS. 22291
22211 90°
i 90° BSP FEMALE FLAT SEAT
BSP FEMALE MULTISEAL
W
HOSE BORE DIMENSIONS
PART Number E SART Number E HOSE BORE DIMENSIONS
THREAD E DN DASH A C S2 THREAD E DN DASH A C H S2
22211-04-04 G1/47= 19 6 04 15.5 8 19 22291-04-04 G1/4"x 19 6 04 30 8 345 | 19
22211-06-05 G3/8"x 19 8 05 17 9 22 22291-06-06 G3/8"x 19 10 06 35.3 9 41.3 22
22211-06-06 G3/8™ 19 10 06 16.5 9 22 22291-08-08 G1/2"x 14 12 08 41 10.5 48 27
22211-08-08 Gl/2"x 14 12 08 18.5 10.5 27 22291-12-12 G3/47x 14 20 12 65.5 13.5 63.5 32
22211-10-10 G5/8"x 14 16 10 21 12 30 22291-16-16 G1"x 11 25 16 76.7 15.5 70 41
22211-12-12 G3/4"™x 14 20 12 21.5 13.5 32 22291-20-20W G1.1/4x 11 32 20 91.5 15.5 82.5 50
22211-16-16 G1'x 11 25 16 23 15.5 41 22291-24-24W G1.1/27x 11 40 24 109.4 17.5 98.5 55
22211-20-20W G1.1/47x 11 32 20 26 15.5 50 N N 99299 00Xk
22211-24-24W G1.1/2"x 11 40 24 27.5 17.5 55 Note 1.Forueswith braided hoses  2.If use with spiral hoses,hose fitting series number is 22292-xx-xx.
22211-32-32W G2'x 11 50 32 30.5 23 70
1 2. 22212-XX-XX

Note 1.Forues with braided hoses

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

2.If use with spiral hoses,hose fitting series number is22212-xx-xx.

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com




SWAGED HOSE FITTING

ANERDAHYDRAULIC

ANERDAHYDRAULIC

SWAGED HOSE FITTING

-

s F_gﬁmm —

60°

Note 1.Forues with braided hoses

2.1f use with spiral hoses,hose fitting series number is 22612-xx-Xx.

st
12611 ) ; BSP FEMALEG60° CONE
60° .58 s
BSP MALE60® CONE SEAT 22611 22611-T 22611-W
PART Number E HOSE BORE DIMENSIONS
THREAD E DN DASH A C S1
PART Number E HOSE BORE DIMENSIONS 22611-02-03 G1/8"x 28 5 03 15 5.5 14
THREAD E DN DASH A C S1 22611-04-03 G1/47x 19 5 03 17 5.5 19
12611-04-04 G1l/4"x 19 6 04 24.5 12 14 22611-04-04 G1/4"x 19 6 04 18 5.5 19
12611-06-06 G3/8"x 19 10 06 27.5 13.5 17 22611-06-05 G3/8"x 19 8 05 19 6.3 22
12611-08-08 G1l/2"x 14 12 08 31 16 22 22611-06-06 G3/8"x 19 10 06 19.5 6.3 22
12611-10-10 G5/8"x 14 16 10 33.5 17.5 24 22611-08-08 G1/2"x 14 12 08 21.5 7.5 27
12611-12-12 G3/4"x 14 20 12 36.5 18.5 27 22611-10-10 G5/8"x 11 16 10 23.5 95 30
12611-16-26 G1'x 11 25 16 41.5 20.5 36 22611-12-12 G3/4"x 11 20 12 24 10.9 32
12611-20-20 G1.1/4"x 11 32 20 44.5 20.5 46 22611-16-12T G1"x 11 20 12 24 11.7 41
12611-24-24 G1.1/2"x 11 40 24 46 23 50 22611-16-16 G1"x 11 25 16 27 11.7 41
12611-32-32 G2"x 11 50 32 53.5 25.5 65 22611-20-20W G1.1/4"x 11 32 20 30.5 11 50
1 2. 12612-xx-xx 22611-24-20T G1l.1/2"x 11 32 20 32 13 55
Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is12612-xx-xx. 22611-24-24W G1.1/2"x 11 20 o4 32 13 55
22611-32-24T G2"x 11 40 24 30 16 70
22611-32-32W G2"x 11 50 32 31.9 16 70
1 2. 22612-xX-XX

12611A " ’ :
60° e g 111 =l f i A 7 45° 60°
b« 4 9 \;5 '__F:ﬁ{; 45° BSP FEMALE 60° CONE
BSP MALE DOUBLE FOR 60° SE 00641 T "22641-T *° 22641-W
CONE SEAT OR BONDED SEAL
N E HOSE BORE DIMENSIONS
THREAD E DN DASH A C H S1
PART Number USSEIORE SENDITI 22641-04-04 G1/4"x 19 6 04 42.3 5.5 20.2 19
THREAD E DN DASH C
- 22641-06-05 G3/8"x 19 8 05 45.3 6.3 22 22
12611-04-04 61/4”’( 19 6 04 24.5 12 19 22641-06-06 G3/8"x 19 10 06 46.9 6.3 22.6 22
12611-06-06 G3/8“x 19 8 0% 26 13.5 22 22641-08-08 G1/2"x 14 12 08 61.1 7.5 26.1 27
12611-06-06 63/8:( 19 10 06 28 13.5 22 22641-10-10 G5/8"x 14 16 10 72.6 9.5 27.8 31
12611-08-08 Gl/zﬂx 14 12 o8 33.5 16 27 22641-12-12 G3/4"x 14 20 12 79.2 10.9 31.8 32
12611-10-10 65/8"x 14 16 10 36 17.5 30 22641-16-12T G1"x 11 20 12 80.8 11.7 33.4 41
12611-12-12 63,/,4 x 14 20 12 37.5 18.5 32 22641-16-16 G1"x 11 25 16 88.4 11.7 34.2 41
12611-16-16 G1% 1} 25 16 43.5 20.5 41 22641-20-16T G1.1/4"x 11 25 16 85.3 11 31.1 50
12611-20-20 Gl.1/4">< 11 32 20 46.5 20.5 50 2641-20-20W ETIIET a2 20 98.8 11 28 50
12611-24-24 Gl;,1/2 x 11 40 24 49 23 55 22641-24-24W G1.1/2"x 11 40 24 116.8 13 45.5 55
12611-32-32 G2™x 11 50 32 545 25.5 70 22641-32-32W G2"x 11 50 32 135.7 16 52.7 70
1 2. 12612-XX-XX 1 2. 22642-XX-XX

Note 1.Forues with braided hoses

(Tel) 86-574-8847111

2.If use with spiral hoses,hose fitting series number is12612-xx-xx.

(Fax) 86-574-8847116 (URL) Http //www.ardyy.com

Note 1.Forues with braided hoses

(Tel) 86-574-8847111

(Fax) 86-574-8847116

2.1f use with spiral hoses,hose fitting series number is 22642-xx-Xx.

(URL) Http //www.ardyy.com



ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

22691K
60° 22611D
BSP FEMALEG60° CONE DOUBLE HEXAGON 60°
E HOSE BORE DIMENSIONS BSP FEMALEG60° CONE DOUBLE HEXAGON
PART Number
THREAD E DASH A C H S1 S2
22691-04-04 G1/4"X19 6 04 17.5 55 18.5 11 19
22691-06-04 G3/8"X19 6 04 20 6.3 23 16 22 E HOSE BORE DIMENSIONS
22691-06-05 G3/8"X19 8 05 20 | 63 | 23 | 16 | 22 PART Number oD E DN DASH A c s1 s2
22691-06-06 G3/8"X19 10 06 20 6.3 24 16 22 22611D-04-04 G1/4"x 19 6 04 235 55 19 19
22691-08-06 G1/2"X14 10 06 23 7.5 26.5 19 27 22611D-06-06 G3/8"x 19 10 06 26.5 6.3 22 22
22691-08-08 G1/2"X14 12 08 23.5 7.5 28.5 19 27 22611D-08-08 G1/2°x 14 12 08 31 75 27 27
22691-10-10 G5/8"X14 16 10 25 9.5 29.2 22 30 22611D-10-10 G5/8"x 14 12 08 32 95 30 30
22691-12-12 G3/4"X14 20 12 27.5 10.9 33 27 32 22611D-12-08 G3/4"% 14 12 08 33 10.9 32 32
22691-16-16 G1"X11 25 16 32.5 11.7 38.1 33 41 22611D-12-12 G3/4"x 14 20 12 34 109 32 32
1. 2. 22692K-XX-XX 22611D-16-16 G1"x 11 25 16 35.5 11.7 41 41
Note:1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 22692K-xx-xx. 22611D-20-20 G1.1/4"x 11 32 20 435 1 50 50
o Lo .k 1 2. 22612-XX-XX

Note 1.Forues with braided hoses 2.If use with spiral hoses,hose fitting series number is 22612-xx-Xxx.

A5 TN
= i 90° 60°
N ead 90° BSP FEMALE 60° CONE
W i i
22691 22691-W 22691-T
= e E HOSE BORE DIMENSIONS | . 22611D-SM
THREAD E DN DASH A C H S2 cod R 60°
22691-02-03 G1/8"x 28 5 03 26.5 5.5 31.5 14 Gl BSP FEMALE60° CONE DOUBLE HEXAGON
22691-04-03 G1/4"x 19 5 03 26.5 5.5 33.5 19 :
22641-04-04 G1/4"x 19 6 04 30 5.5 36.5 19
22641-06-05 G3/8"x 19 8 05 33 6.3 40.7 22
22641-06-06 G3/8"x 19 10 06 35.3 6.3 43 22 E HOSE BORE DIMENSIONS
22641-08-08 G1/2"x 14 12 08 41 7.5 51 27 PART Number . oFADE DN DASH A c s1 S2
22641-10-10 Gs/8"™x 14 16 10 56.5 9.5 56 30 22611D-04-04SM G1/4"x 19 6 04 23 5.5 14 19
22641-12-12 G3/4"x 14 20 12 65.5 10.9 66 32 22611D-06-06SM G3/8"x 19 10 06 25 6.3 17 22
22641-16-12T1 G1™x 11 20 12 65.5 11.7 68.3 41 22611D-08-08SM G1/2"x 14 12 08 28.5 7.5 22 27
22641-16-16 G1"x 11 25 16 76.7 11.7 73.8 41 22611D-10-10SM G5/8"x 14 12 08 30 9.5 22 30
22641-20-16T G1.1/4"x 11 25 16 8 11 69.5 50 22611D-12-08SM G3/4"x 14 12 08 32.1 10.9 27 32
22641-20-20W G1.1/4"x 11 32 20 91.5 11 84.3 50 22611D-12-12SM G3/4"x 14 20 12 32.5 109 27 32
22641-24-24W G1.1/2"x 11 40 24 109.4 13 103 55 22611D-16-16SM G1"x 11 25 16 36.3 11.7 32 41
22641-32-32W G2™x 11 50 32 131.8 16 1233 ] 70 22611D-20-20SM G1.1/4"x 11 32 20 41.5 11 41 50
1 2 22692-XX-XX 1 2. 22612-xx-Xx

Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 22612-xx-xx.

Note 1.Forueswith braided hoses

(Tel) 86-574-8847111

2.1f use with spiral hoses,hose fitting series number is 22692-xx-xx.

(Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

16011

1.

SAE

SAE O-RING MALE ISO 11926-SAE J1926

| _MJJ_LILIUHIJJ

16711
Jic

JIC MALE74° CONE

74°

ISO 8434-2-SAE J514

L ¥

= DART Number E HOSE BORE DIMENSIONS
e —— E HOSE BORE o) DIMENSIONS THREADE DN DASH A C S1
THREADE DN DASH  ORING C 16711-04-04 7/16"x 20 04 26.5 14 12
16011-04-04 7/16"x 20 6 04 0904 21.5 9.1 14 16711-05-05 1/2"x 20 8 05 26.5 14 14
16011-05-04 1/2"x 20 6 04 0905 21.5 9.1 17 16711-06-06 9/16"x 18 8 05 26.5 14.1 17
16011-06-05 9/16"x 18 8 05 0906 22.5 9.9 17 16711-06-06 9/16"x 18 10 06 26.5 14.1 17
16011-06-06 9/16"x 18 10 06 0906 22.5 9.9 17 16711-08-08 3/4"x 16 12 08 32 16.7 22
16011-08-06 3/4"x 16 10 06 0908 24.5 1.1 22 16711-10-10 7/8"x 14 16 10 35.5 19.3 24
16011-08-08 3/4"x 16 12 08 0908 25 1.1 22 16711-12-12 1.1/16"x 12 20 12 40 21.9 27
16011-10-08 7/8"x 14 12 08 0910 29.5 12.7 27 16711-14-12 1.3/16"x 12 20 12 40.5 22.6 32
16011-10-10 7/8"x 14 16 10 0910 30.5 12.7 27 16711-16-16 1.5/16"x 12 25 16 43.5 23.1 36
16011-12-10 1.1/16"x 12 16 10 0912 34 15.1 32 16711-20-20 1.5/8"x 12 32 20 47.5 24.3 46
16011-12-12 1.1/16"x 12 20 12 0912 34 15.1 32 16711-24-24 1.7/8"x 12 40 24 53 27.5 50
16011-16-16 1.5/16"x 12 25 16 0916 36 15.1 38 16711-32-32 2.1/2"x 12 50 32 62 33.9 65

1. 2. 16712-Xx-Xx
1 2. 16012-xx-xx Note:1.For use with braided house 2.If use with spira house,hose fitting serise number is 16712-xx-xx.
Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is16012-xx-xx.
e
" o ria Jic 74°
e L L JIC FEMALE7474° CONE SEAT SAE J514
15611 26711 26711-T
|| LLLILLEL NPTMALE _

Lo PART Number = HOSE BORE DIMENSIONS
: THREAD E DN DASH A c S2
PART Number E HOSE BORE DIMENSIONS 26711-04-04 7/16"x 20 6 04 15 9 15
THREAD E DN DASH A C S1 26711-05-05 1/2°x 20 8 05 15.5 9.5 17
15611-02-03 z1/8"™ 27 5 03 22.5 10.5 12 26711-06-05 9/16"x 18 8 05 15.5 10.5 19
15611-04-04 Z1/4™< 18 6 04 28 15 17 26711-06-06 9/16"x 18 10 06 15.5 10.5 19
15611-06-05 Z3/8™ 18 8 05 28 16 19 26711-08-06 3/4"x 16 10 06 17.5 11 24
15611-06-06 Z3/8"x 18 10 06 30 16 19 26711-08-08 3/4"x 16 12 08 18 11 24
15611-08-08 Z1/2"x 18 12 08 34.53 19.5 22 26711-10-10 7/8"x 14 16 10 20 13 27
15611-12-10 Z3/4™x 14 16 10 38 19.5 27 26711-12-12 1.1/16"x 12 20 12 215 15 32
15611-12-12 Z3/4™x 14 20 12 38.5 19.5 27 26711-14-12 1.3/16"x 12 20 12 215 15 36
15611-16-12 Z1"x 11.5 20 12 45 25.5 36 26711-16-16 1.5/16"x 12 25 16 23 16 41
15611-16-16 Z1"x 11.5 25 16 44.5 255 36 26711-20-20W 1.5/8"x 12 32 20 26 17 50
15611-20-20 Z1.1/4"x 11.5 32 20 49 26.5 46 26711-24-24W 1.7/8"x 12 40 24 26.5 20 55
15611-24-24 Z1.1/2"x 11.5 40 24 51 27.5 50 26711-32-24T 2.1/2"x 12 40 24 27 235 75
15611-32-32 227 11.5 50 32 55 27.5 65 26711-32-32T 2.1/2"x 12 50 32 27 23.5 75

1. 2. 15612-xX-XX 1. 2. 26712-XX-XX

Note:1.For use with braided house 2.1f use with spira house,hose fitting serise number is 26712-xx-xX.

(URL) Http //www.ardyy.com

Note:1.For use with braided house

(Tel) 86-574-8847111

2.I1f use with spira house,hose fitting serise number is 15612-xx-xx.

(Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116



ANERDAHYDRAULIC SWAGED HOSE FITTING

ANERDAHYDRAULIC SWAGED HOSE FITTING

Ll

BN 45°  JIC 74°
45° JIC FEMALE74° COME SEAT SAE J514

26741 26741- W
PART Number = HOSE BORE DIMENSIONS

THREAD E DN DASH A C H S2
26741-04-04 7/16"x 20 6 04 40.2 9 18.1 15
26741-05-05 1/2"x 20 8 05 42.7 95 19.3 17
26741-06-05 9/16"x 18 8 05 42.7 10.5 19.3 19
26741-06-06 9/16"x 18 10 06 44.3 10.5 20 19
26741-08-08 3/4"x 16 12 08 58.6 11 23.5 24
26741-10-10 7/8"x 14 16 10 70.1 13 25.3 27
26741-12-12 1.1/16"%x 12 20 12 77.4 15 30 32
26741-14-12 1.3/16"%x 12 20 12 77.4 15 30 36
26741-16-16 1.5/16"x 12 25 16 85.7 16 31.5 41
26741-20-20W 1.5/8"x 12 32 20 96.6 17 35.9 50
26741-24-24W 1.7/8"x 12 40 24 111.8 20 44.1 55
26741-32-32W 2.1/2"x 12 50 32 135.9 23.5 51.6 75

1. 2. 26742-XX-XX
Note:1.For use with braided house 2.1f use with spira house,hose fitting serise number is 26742-xx-xx.

26791K

90° JIC 74°
90° JIC COMPACT FEMALE74° CONE SEAT SAE J514

PART Number = HOSE BORE DIMENSIONS

THREAD E DN DASH A C H S1 S2
26791K-04-04 7/16"X20 6 04 17.5 9 18 11 15
26791K-06-04 9/16"X18 6 04 19 10.5 21 14 19
26791K-06-06 9/16"X18 10 06 20 10.5 21 16 19
26791K-08-06 3/4"X16 10 06 23 11 25 19 24
26791K-08-08 3/4"X16 12 08 235 11 25 22 24
26791K-10-08 7/8"X14 12 08 23.5 13 27.5 22 27
26791K-10-10 7/8"X14 16 20 25 13 27.5 22 27
26791K-12-12 1.1/16"X12 20 12 27.5 15 30 27 32
26791K-16-16 1.5/16"X12 25 16 43 16 34.3 33 41

1. 2. 26792K-xx-XX
Note:1.For use with braided house 2.1f use with spira house,hose fitting serise number is 26792K-xx-xx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com

90° JIC 74°
'.‘2 26791 *__I_ 26791-W 99 JICFEMALE74° CONE SEAT SAE J514
SR N E HOSE BORE DIMENSIONS

THREAD E DN DASH A C H S2
26791-04-04 7/16"x 20 6 04 30 9 33.5 15
26791-05-05 1/2"x 20 8 05 33 9.5 37 17
26791-06-05 9/16"x 18 8 05 33 10.5 37 19
26791-06-06 9/16”x 18 10 06 35.3 10.5 39.3 19
26791-08-06 3/4"x 16 10 06 35.3 11 41.3 24
26791-08-08 3/4"x 16 12 08 41 11 47 24
26791-10-10 7/8"x 14 16 10 56.5 13 52.5 27
26791-12-12 1.1/16"x 12 20 12 65.5 15 63.5 32
26791-14-16 1.3/16"x 12 20 12 65.5 15 63.5 36
26791-16-16 1.5/16"x 12 25 16 76.7 16 70 41
26791-20-20W 1.5/8"x 12 32 20 91.5 17 50.5 50
26791-24-24W 1.7/8"x 12 40 24 109.4 20 94 55
26791-32-32W 2.1/27% 12 50 32 133.1 23.5 121.8 75

1. 2. 26792-XX-XX
Note:1.For use with braided house 2.1f use with spira house,hose fitting serise number is 26792-xx-xXx.
L A
26711D
St JIC 74°
J '-': 1 J U—LMMU-—- JIC FEMALE7° CONE SEAT DOUBEL HEXAGON
™ | SAE J514
T N E HOSE BORE DIMENSIONS

THREAD E DN DASH A C S1 S2
26711D-04-04 7/16"x 20 6 04 20 9 15 15
26711D-05-04 1/2"x 20 6 04 20.5 9.5 17 17
26711D-06-04 9/16"x 18 6 04 21 10.5 19 19
26711D-06-06 9/16"x 18 10 06 21 10.5 19 19
26711D-08-06 3/4"x 16 10 06 25 11 24 24
26711D-08-08 3/4"x 16 12 08 24.5 11 24 24
26711D-08-10 3/4"x 16 16 10 25.5 11 24 24
26711D-10-08 7/8"x 14 12 08 28 13 27 27
26711D-10-10 7/8"x 14 16 10 29 13 27 27
26711D-12-12 1.1/16"x 12 20 12 31.5 15 32 32
26711D-16-12 1.5/16"x 12 20 12 33.5 16 41 41
26711D-16-16 1.5/16"x 12 25 16 34.5 16 41 41
26711D-16-20 1.5/16"x 12 32 20 36.5 16 41 41
26711D-20-20 1.7/16"x 12 32 20 39 17 50 50

1. 2. 26712D-xx-xX
Note:1.For use with braided house 2.1f use with spira house,hose fitting serise number is 26712D-xx-xX.
(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



SWAGED HOSE FITTING SWAGED HOSE FITTING

ANERDAHYDRAULIC ANERDAHYDRAULIC

R I A
26711D-SM 57811
=1 Jic 74° " SAE 90°
',_. . s-./_{ E_lj_\_ti]."_"_m_-— JIC FEMALE74° CONE SEAT DOUBEL HEXAGON e SAE FEMALE90° CONE SEAT
e C ] SAE Js14 SAE J513
= HOSE BORE DIMENSIONS
PART Number
THREAD E DN DASH C S1 S2 = HOSE BORE DIMENSIONS
PART Number

26711D-04-04SM 7/16"x 20 6 04 20 9 12 15 THREAD E DN DASH JAN C S1
26711D-05-04SM 1/2"x 20 6 04 20.5 9.5 12 17 27811-04-03 7/16"x 20 5 03 14 9 15
26711D-06-04SM 9/16"%x 18 6 04 21 10.5 14 19 27811-04-04 7/16"x 20 6 04 15 9 15
26711D-06-06SM 9/16"%x 18 10 06 21 10.5 17 19 27811-05-05 1/2"x 20 8 05 15.5 9.5 17
26711D-08-06SM 3/4"x 16 10 06 23 11 19 24 27811-06-04 5/8"x 18 6 04 17 11.3 22
26711D-08-08SM 3/4"x 16 12 08 24.5 11 22 24 27811-06-05 5/8"x 18 8 05 17 11.3 22
26711D-08-10SM 3/4"x 16 16 10 25.5 11 22 24 27811-06-06 5/8"x 18 10 06 17 11.3 22
26711D-10-08SM 7/8"x 14 12 08 24 13 22 27 27811-08-08 3/4"x 16 12 08 18 11 24
26711D-10-10SM 7/8"x 14 16 10 27 13 22 27 27811-10-08 7/8"x 14 12 08 18.5 13 27
26711D-12-12SM 1.1/16"x 12 20 12 31.5 15 27 32 27811-10-10 7/18"x 14 16 10 20 13 27
26711D-16-12SM 1.5/16"x 12 20 12 315 16 32 41 27811-12-12 1.1/16"x 14 20 12 21.5 14.3 32
26711D-16-16SM 1.5/16"x 12 25 16 32,5 16 32 41 1. 2. 27812-XX-XX.
26711D-20-20SM 1.7/16"x 12 32 20 37 17 41 50 Note:1.For use with braided house 2.1f use with spira house,hose fitting serise number is 27812-xx-Xx

1. 2. 26712D-xx-XxxSM
Note:1.For use with braided house 2.I1f use with spira house,hose fitting serise number is 26712D-xx-xXxSM

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

Note:1.For use with braided house

(Tel) 86-574-8847111

(Fax) 86-574-8847116

2.1f use with spira house,hose fitting serise number is27842-xx-xx

(URL) Http //www.ardyy.com

A
c - 27841
17811 45 SAE 90
. 45° SAE FEMALE90° CONE SEAT
afe < SAE 90 SAE J513
3 'F {ll | | | | | ol SAE MALE90° CONE SAE J513
1
sl
E HOSE BORE DIMENSIONS
PARTNumber o\ ceADE DN DASH A c H S2
SART Number E HOSE BORE DIMENSIONS
THREAD E DN DASH A C sS1 27841-04-03 7/16"x 20 03 37.6 9 17.2 15
17811-04-04 7/16"x 20 6 04 25.5 12.7 12 27841-06-04 5/8™ 18 04 52 1, =L
R I 8 05 7 142 12 27841-06-05 5/8"x 18 05 44.1 11.3 207 | 22
17811.06.06 S/8'x 18 0 06 285 15 7 T 27841-06-06 5/8"x 18 10 06 45.7 11.3 214 | 22
R i i 12 08 a2 19 . 27841-08-08 3/4"x 16 12 08 58.2 11 233 | 24
17811-10-10 /8% 16 16 0 385 o 4 4 27841-10-08 7/8"x 14 12 08 58.2 13 233 | 27
17811-12-12 1.1/16"% 12 20 12 43.5 25.4 30 27841-10-10 7/8"x 14 16 10 69.4 13 24.6 27
27841-12-12 1.1/16"x 12 20 12 77.4 14.3 30 32
1. 2. 17812-XX-xx
Note:1.For use with braided house 2.If use with spira house,hose fitting serise number is 17812-xx-xx. 1. 2. 27842-XX-XX.




SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

27891

90° JiC 90°
90° JIC FEMALE90° CONE SEAT SAE J513

,.HD:

ORFS
ORFS FEMALE FLAT SEAT
ISO 12151-1-SAE J516

24211 24211-T 24211-W
PART Number = HOSE BORE DIMENSIONS
THREAD E DN DASH A C S2
24211-04-04 9/16"x 18 6 04 22.5 8.5 19
24211-06-06 11/16"x 16 10 06 22.5 10 22
24211-08-08 13/16"x 16 12 08 28 11 27
24211-10-10 1"x 14 16 10 33.5 13.5 30
24211-12-12 1.3/16"x 12 20 12 35 15 36
24211-16-14T 1.7/16"x 12 22 14 34 14.8 41
24211-16-16T 1.7/16"%x 12 25 16 35 14.8 41
24211-20-20W 1.11/167x 12 32 20 39.5 15 50
24211-20-24W 1.11/16"x 12 40 24 39.5 15 50
24211-24-20T 2"x 12 32 20 36 14.8 60
24211-24-24T 2"x 12 40 24 36 14.8 60
1. 2. 24212-XX-XX.

Note:1.For use with braided house

2.If use with spira house,hose fitting serise number is 24212-xx-xx

PART Number = HOSE BORE DIMENSIONS
THREAD E DN DASH A C H S2
27891-04-03 7/16"x 20 5 03 26.5 9 30.5 15
27891-06-04 5/8"x 18 6 04 30 11.3 36 22
27891-06-05 5/8"x 18 8 05 33 11.3 39 22
27891-06-06 5/8"x 18 10 06 35.3 11.3 41.3 22
27891-10-08 7/8"x 14 12 08 41 13 47 27
27891-10-10 718" 14 16 10 56.5 13 BiL.5 27
27891-12-12 1.1/16"x 12 20 12 65.5 14.3 63.5 32
1. 2. 27892-xX-XX.
Note:1.For use with braided house 2.1f use with spira house,hose fitting serise number is 27892-xx-xx
b
14211
ORFS 0]
ORFS MALE O-RING SEAL
ISO 4834-3-SAE Ji453
= HOSE BORE (@) DIMENSIONS
PART Number
THREAD E DN DASH O RING A C S1
14211-04-04 9/16"%x 16 6 04 0011 22.3 9.8 17
14211-06-06 11/16"x 16 10 06 0012 24 11.2 19
14211-08-08 13/16"%x 16 12 08 0014 28.5 12.8 22
14211-10-10 1"x 14 16 10 0016 34 15.5 27
14211-12-12 1.3/16"x 12 20 12 0018 36.5 17 32
14211-16-16 1.7/16"x 12 25 16 0021 38.5 17.5 38
14211-20-20 1.11/16"x 12 32 20 0025 41.5 17.5 46
14211-24-24 2"%x 12 40 24 0029 43.5 17.5 55
1. 2. 14212-xX-XX.

Note:1.For use with braided house

(Tel) 86-574-8847111

(Fax) 86-574-8847116

2.1f use with spira house,hose fitting serise number is14212-xx-xx

(URL) Http //www.ardyy.com

45° ORFS
- 45° ORFS FEMALE FLAT SEAT
p. ISO 12151-1-SAE J516
24241 24241-T 24241-W
SART Number E HOSE BORE DIMENSIONS
THREAD E DASH A H C S2
24241-04-04 9/16"x 18 6 04 45.5 23.4 8.5 19
24241-06-06 11/16"%x 16 10 06 51.7 27.4 10 22
24241-08-08 13/16"x 16 12 08 65.3 30.4 11 27
24241-10-10 1"x 14 16 10 79.7 34.9 13.5 30
24241-12-12 1.3/16"%x 12 20 12 87.6 39.5 15 36
24241-16-14T 1.7/16"%x 12 22 14 78.7 28.5 14.8 41
24241-16-16T 1.7/16"%x 12 25 16 84.1 29.7 14.8 41
24241-20-20W 1.11/16"x 12 32 20 111.2 49 15 50
24241-20-24W 1.11/167x 12 40 24 123.6 52.9 15 50
24241-24-20T 2"x 12 32 20 94.5 33.8 14.8 60
24241-24-24T 2"x 12 40 24 108.5 37.7 14.8 60
1. 2. 24242-XX-XX.

Note:1.For use with braided house

(Tel) 86-574-8847111

(Fax) 86-574-8847116

2.1f use with spira house,hose fitting serise number is 24242-xx-xx

(URL) Http //www.ardyy.com




ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

i

_ " '?”_mmmlﬂ 90° ORFS

; : T‘li 90° ORFS FEMALE FLAT SEAT

i e i o ISO 12151-1-SAE J516

24291 24291-T 24291-W

PART Number HOSE BORE DIMENSIONS
THREAD E DN DASH H C

24291-04-04 9/16"x 18 04 30 41 8.5 19
24291-06-05T 11/16"x 16 05 33 37.5 10 22
24291-06-06 11/16"x 16 10 06 35.3 49.8 10 22
24291-08-08 13/16"x 16 12 08 41 57 11 27
24291-10-10 1"x 14 16 10 56.5 66 13.5 30
24291-12-12 1.3/16"x 12 20 12 65.5 77 15 36
24291-16-14T 1.7/16"x 12 22 14 41.2 63 14.8 41
24291-16-16T 1.7/16"x 12 25 16 76.9 67.5 14.8 41
24291-20-20W 1.11/16"x 12 32 20 93 100 15 50
24291-20-24W 1.11/16"x 12 40 24 109.4 113.5 15 50
24291-24-20T 2"x 12 32 20 91.5 78.5 14.8 60
24291-24-24T 2"x 12 40 24 109.4 92 14.8 60

1. 2. 24292-XX-XX.

Note:1.For use with braided house

2.I1f use with spira house,hose fitting serise number is 24292-xx-xx

I 21611
& — : NPSM 60 °
> L BT - NPSM FEMALE60° CONE
e SAE J514
AR U E HOSE BORE DIMENSIONS

THREAD E DN DASH A H S2
21611-04-04 1/4"x 18 6 04 22 4.6 19
21611-04-06 1/4"x 18 10 06 22 4.6 19
21611-06-04 3/8"x 18 04 23 6 22
21611-06-05 3/8"x 18 05 23 6 22
21611-06-06 3/8"x 18 10 06 23 6 22
21611-08-08 1/2"x 14 12 08 23.5 7.5 27
21611-12-10 3/4"x 14 16 10 27 8.9 32
21611-12-12 3/4"x 14 20 12 27 8.9 32
21611-16-12T 1"x 11.5 20 12 25 10.5 41
21611-16-16 1"x 11.5 25 16 28.5 10.5 41
21611-20-20W 1.1/4"x 11.5 32 20 29.5 11.2 50
21611-24-20T 1.1/2"x 11.5 32 20 29.5 11.2 55
21611-24-24W 1/2"x 11.5 40 24 31.5 11.2 55
21611-32-32W 2"x 11.5 50 32 31 11.2 70

1. 2. 21612-XX-XX.

Note:1.For use with braided house

(Tel) 86-574-8847111

(Fax) 86-574-8847116

2.If use with spira house,hose fitting serise number is 21612-xx-xx

(URL) Http //www.ardyy.com

21641
45° NPSM 60°
45° NPSM FEMALEG60° CONE
SAE J514
PART Number E HOSE BORE DIMENSIONS
THREAD E DN DASH A B H S2
21641-04-04 1/4"x 18 6 04 45.1 4.6 23 19
21641-06-06 3/8"x 16 10 06 47.2 6 24.9 22
21641-08-08 1/2"x 14 12 08 62.7 75 27.7 27
21641-12-12 3/4"%x 14 20 12 81.4 8.9 34 32
21641-16-16 1"x 11.5 25 16 89.2 10.5 35 41
21641-20-20W 1.1/4"x 15 32 20 99.8 11.2 39.3 50
21641-20-24W 1.1/2"x 11.5 40 24 115.1 11.2 44.4 55
21641-32-32W 2"x 11.5 50 32 136.4 11.2 63.4 70
1. 2. 21642-XX-XX.
Note:1.For use with braided house 2.1f use with spira house,hose fitting serise number is21642-xx-xx
21691
90° NPSM 60°
90° NPSM FEMALEG60° CONE
= SAE J514
e
PART Number = HOSE BORE DIMENSIONS
THREAD E DN DASH A C H S2
21611-04-04 1/4"x 18 6 04 30 4.6 40.5 19
21611-06-04 3/8"x 18 6 04 30 6 37.7 22
21611-06-05 3/8"x 18 8 05 34 6 40.7 22
21611-06-06 3/8"x 18 10 06 35.3 6 45.3 22
21611-08-08 1/2"x 14 12 08 41 7.5 53.2 27
21611-12-10 3/4"x 14 16 10 56.6 8.9 53.2 32
21611-12-12 3/4"x 14 20 12 65.5 8.9 69.1 32
21611-16-12T 1"x 11.5 20 12 65.5 10.5 64.5 41
21611-16-16 1"x 11.5 25 16 76.7 10.5 75 41
21611-20-20W 1.1/4"x 11.5 32 20 91.5 11.2 86 50
21611-24-20T 1.1/2"x 11.5 32 20 91.5 11.2 83.5 55
21611-24-24W 1.1/2"x 11.5 40 24 109.4 11.2 101.5 55
21611-32-32W 2"x 11.5 50 32 131.8 11.2 124.5 70
1. 2. 21692-XX-XX.

Note:1.For use with braided house

(Tel) 86-574-8847111

(Fax) 86-574-8847116

2.I1f use with spira house,hose fitting serise number is21692-xx-xx

(URL) Http //www.ardyy.com




ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

87311
SAE 3000PSI
SAE FLANGE3000 PSI
ISO 12151-3-SAE J516 87391
90° SAE 3000PSI
PART Number = HOSEBORE DIMENSIONS 90° SAE FLANGE 3000 PSI
THREAD E DN DASH A C D L 1SO 12151-3-SAE J516
87311-08-08 12 12 08 16 30.2 24 | 6.73
87311-12-08 34 12 08 17 38.1 31.7 | 6.73
87311-12-10 3/4 16 10 18 38.1 31.7 | 6.73
87311-12-12 i:j 20 12 18 38.1 317 | 6.73 = SRR CTENEENE
87311-12-16 s 25 16 19 38.1 31.7 | 6.73 PART Number THREAD E DN DASH A C D H L
87311-16-12 1 20 12 51 44.1 £t g 87391-08-08 12 12 08 41 30.2 24 | 47 6.73
87311-16-16 1 25 16 52 44.1 38 8 87391-12-08 3/4 12 08 41 38.1 31.7 | 48 6.73
cifeLl- 20 1.1/4 — 20 o el - = 87391-12-10 3/4 16 10 56.2 38.1 317 | 525 | 6.73
87311-20-16 1.1/4 25 16 57 50.8 43 8 87391-12-12 e 20 12 66.2 38.1 317 | 62 6.73
87311-20-20 1.1/2 32 20 58 50.8 | 43 8 87391-12-12(H100)| o ° 20 12 65.5 381 | 317 | 100 | 6.73
87311-24-20 ; 12 32 20 68 €0.3 50 8 87391-12-12(H127)| . . 20 12 65.5 381 | 317 | 127 | 6.73
87311-24-24 . 40 24 68 60.3 50 8 87391-12-12(H150)| 4, 20 12 65.5 381 | 317 | 150 | 6.73
87311-32-24 i 40 24 70 14 62 | 9.53 87391-12-16 1 25 16 76.7 381 | 317 | 675 | 6.73
clel Sl 0 o2 0 (- e e 87391-16-12 1 20 12 66.2 44.4 38 | 62 8
87311-40-40 64 40 6 84.1 4 9.53 87391-16-16 1 25 16 78 44.4 38 | 675 | 8
1. - 2. o 87312-xx-xx. _ 87391-16-16(H100)| 1 25 16 76.7 44.4 38 | 100 8
Note:1.For use with braided house 2.I1f use with spira house,hose fitting serise numberis87312-xx-xx 87391-16-16(H127) 1 o5 16 76.7 444 38 127 8
~ B 87341 87391-16-16(H150) i » 25 16 76.7 44.4 38 | 150 8
450 SAE  3000PS| 87391-16-20 t 14 32 20 91.5 44.4 38 | 785 | 8
45° SAE FLANGE 3000 PS 87391-20-16 L 14 25 16 78 50.8 43 | 675 | 8
1SO 12151-3-SAE J516 87391-20-20 1.1/ 4 32 20 91.5 50.8 43 78.5 8
87391-20-20(H100)| 1. 1/4 32 20 91.5 50.8 43 | 100 8
= HOSE BORE DIMENSIONS 87391-20-20(H127)| 1.1/4 32 20 91.5 50.8 43 127 8
PART Number THREAD E DN DASH A C D H L 87391-20-20(H150)| 1.1/2 32 20 91.5 50.8 43 150 8
87341-08-08 12 12 08 58.2 30.2 24 | 233 | 6.73 T 1.1/2 P - P - | as | e
87341-12-08 34 12 08 58.9 38.1 317 | 24 6.73 87391.24.20 T.172 37 20 o1 5 60,3 50 | sos | 8
87341-12-10 3/4 16 10 70.1 38.1 317 | 253 | 6.73 T, 2 = > — —~ = -
S AE TM 20 = 20 £ LU ZEE | B 87391-24-24(H127) f s 40 24 109.4 60.3 50 | 127 | 8
87341-16-12 4 20 12 Lt 44.4 38 | 289 | 8 87391-32-24 T 40 24 109.4 71.4 62 | 94 9.53
87341-16-16 1 25 16 85.2 44.4 38 29.7 | 8 87391-32-32 50 32 131.8 71.4 62 114.3 | 9.53
87341-16-20 1.1/4 32 20 94.5 44.4 38 3838 | 8 87391-40-32 50 32 131.8 84.1 74.4 | 114.3 | 9.53
87341-20-16 1.1/4 25 16 85.2 50.8 43 207 | 8 . , 73020k
87341-20-20 1.1/2 32 20 94.5 50.8 43 33.8 8 Note:1.For use with braided house 2.If use with spira house,hose fitting serise number is87392-xx-xx
87341-24-20 1.1/2 32 20 95.9 60.3 50 352 | 8
87341-24-24 2 40 24 109.9 60.3 50 39.1 | 8
87341-32-24 2 40 24 109.9 71.4 62 39.1 | 9.53
87341-32-32 50 32 129.3 71.4 62 46.3 | 9.53
1. 2. 87342-XX-XX.
Note:1.For use with braided house 2.I1f use with spira house,hose fitting serise numberis87342-xx-xx

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com w



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

87641

45° SAE 6000PSI
45° SAE FLANGE 6000 PSI

] T

FL . ISO 12151-3-SAE J516
SAE 3000PSI
' SAE SPLIT FLANGE CLAMPS 3000PS| HOSE BORE DIMENSIONS
ISO 6162-SAE J518 PART Number THREAD E DN DASH A C D H
87641-08-08 12 12 08 58.9 31.7 24 | 24 |7.75
87641-08-12 1/2 20 12 74.9 31.7 24 275 | 7.75
DIMENSIONS 87641-12-10 34 16 10 72.5 41.3 32 28.2 |8.76
AR NG [ AEANEIE Sl A B C D E oLy MEA 87641-12-12 e 20 12 79.2 41.3 32 31.8 |8.76
FL-08 2 53.8 46.1 38.1 9 17.5 M8X25 87641-16-16 oy 25 16 90.2 47.6 38 | 34.7 |9.53
FL-12 3/4" 65 52.4 47.6 11 5.2 M10X30 34.5 87641.20.20 Lt v 20 1038 ” 2 | ais 1029
FL-16 = 69.9 °8.7 52.4 11 262 | MI10X30 87641-24-20 110 32 20 105.8 63.5 51 | 45.1 [12.57
FL-20 1.1/4" 79.2 73 58.7 11 30.2 M10X30 27.6 676412424 ) 20 24 1162 635 o1 | 455 (1257
FL-24 1.1/2" 93.7 82.6 69.9 13.5 35.7 M12X35 207 67641.32.24 ) 20 ” 1254 04 - 547 | 1257
a2 Z O 20 {04 L5139 ) MIUSS 87641-32-32 50 32 135.7 79.4 67 | 52.7 |12.57
FL-40 2.1/4" 114 109 88.9 13.5 50.8 M12X40 10
1. 2. 87642-XX-XX.
Note:Bolt should de ordered another Note:1.For use with braided house 2.1f use with spira house,hose fitting serise numberis87642-xx-xx
A
> 87611

87691

90° SAE 3000PSI
90° SAE FLANGE 3000 PSI
ISO 12151-3-SAE J516

SAE 6000PSI
SAE FLANGE3000 PSI
ISO 12151-3-SAE J516

PART Number E HOSE BORE DIMENSIONS E HOSE BORE DIMENSIONS

THREAD E DN DASH A C D L PART Number THREADE DN DASH A C D H L
87611-08-08 1/2 12 08 47 31.7 24 | 7.75 87691-08-08 1/2 12 08 41 31.7 24 | 48 7.75
87611-12-10 3/ 4 16 10 51 41.3 32 8.76 87691-12-10 3/ 4 16 10 56.5 41.3 32 56.5 |8.76
87611-12-12 34 20 12 51 41.3 32 | 8.76 87691-12-12 34 20 12 66.2 41.3 32 | 66 8.76
87611-16-12 1 20 12 56 47.6 38 | 9.53 87691-16-12 1 20 12 66.2 47.6 38 | 69 9.53
87611-16-16 l 25 16 57 47.6 38 | 9.53 87691-16-16 l 25 16 78 47.6 38 | 745 [9.53
87611-16-20 : A 32 20 61 47.6 38 | 9.53 87691-16-20 : " 32 20 91.5 47.6 38 | 85.5 [9.53
87611-20-16 114 25 16 65 54 44 | 10.29 87691-20-16 114 25 16 78 54 44 | 785 |10.29
87611-20-20 1.1/2 32 20 66 54 44 | 10.29 87691-20-20 1.1/2 32 20 91.5 54 44 | 895 |10.29
87611-24-20 1.1/2 32 20 75 63.5 51 | 12.57 87691-24-20 1.1/2 32 20 91.5 63.5 51 | 945 |12.57
87611-24-24 2 40 24 75 63.5 51 | 12.57 87691-24-24 2 40 24 109.4 63.5 51 | 108 |[12.57
87611-32-24 2 40 24 85 79.4 67 | 12.57 87691-32-24 2 40 24 109.4 79.4 67 116 | 12.57
87611-32-32 50 32 85 79.4 67 | 12.57 87691-32-32 50 32 131.8 79.4 67 | 136.3 |12.57

1. 2. 87612-xx-XX. 1. 2. 87692-XX-XX.
Note:1.For use with braided house 2.1f use with spira house,hose fitting serise numberis87612-xx-xx Note:1.For use with braided house 2.1f use with spira house,hose fitting serise numberis87692-xx-xx

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



SWAGED HOSE FITTING SWAGED HOSE FITTING

ANERDAHYDRAULIC ANERDAHYDRAULIC

FS
SAE 6000 PS|
SAE SPLIT FLANGE CLAMPS 6000 PSI
ISO 6162-SAE J518
_ 87993
TN ETEE 90: SAE 900PSI
B A c BOLT _1* 90° SAE FLANGE 9000PSI INTERLOCK
FS-08 1/2" 56.3 49.2 40.5 9 18.2 M8X30
FS-12 3/4" 71.4 61.8 50.8 11 23.8 M10X35 HOSE BORE DIMENSIONS
FS-16 1" 81 71.4 57.2 13 27.8 M12X45 PARTNO.  FLANGE SIZE DN DASH C ) L H
FS-20 1.1/4" 95.3 79.2 66.7 15 31.8 M14X50 42 87993-08-08 1/2" 12 08 31.8 23.9 14.3 | 405
FS-24 1.1/2" 112.8 96.8 79.4 17 36.6 M16X55 87993-12-12 3/4" 20 12 41.3 31.7 14.3 71.5
FS-32 2" 133.4 115.6 96.8 21 44.4 M20X70 87993-16-16 1" 25 16 47.6 38 14.3 78.5
87993-20-20 1.1/4" 32 20 54 43.6 14.3 90.5
Note:Bolt should de ordered another 87993-24-24 1.1/2" 40 24 63.5 50.8 14.3 105
87993-32-32 2" 50 32 79.4 66.5 14.3 124
U W 87913
ﬁﬂwfwunﬂl SAE 6000PSI L
SAE FLANGE 6000PSI INTERLOCK
87913L
HOSE BORE DIMENSIONS SAE 900PSI
PARTNO. FLANGE SIZE DN DASH c ) L SAE FLANGE 9000PSI INTERLOCK
87913-08-08 1/2" 12 08 31.8 23.9 14.3 STRENGTHEN
87913-12-12 3/::" 20 12 41.3 31.7 14.3 HOSE BORE e
87913-16-16 1 25 16 47.6 38 14.3 SR | ELANER S BN DASH o 5 :
87913-20-20 1.1/4" 32 20 54 43.6 14.3 .
87913-24-24 1.1/2" 40 24 63.5 50.8 14.3 879131-20-20 1.1/4 32 20 >4 43.6 14.3
67913.30.32 o 50 2 94 66,5 143 87913L-24-24 1.1/2" 40 24 63.5 50.8 14.3
87913L-32-32 2" 50 32 79.4 66.5 14.3
87943
45° SAE 900PSI
45° SAE FLANGE 9000PSI INTERLOCK
87943L
HOSE BORE DIMENSIONS 45° SAE 900PSI
PART NO. ELANGE SIZE DN DASH C D L 45° SAE FLANGE 9000PSIINTERLOCK
87943-08-08 1/2" 12 08 31.8 23.9 14.3 30.5 STRENGTHEN
87943-12-12 3/4" 20 12 41.3 31.7 14.3 35.6 HOSE BORE DIMENSIONS
87943-16-16 1 25 16 47.6 38 14.3 37.5 PARTNO.  FLANGE SIZE DN DASH C D L H
87943-20-20 1.1/4" 32 20 54 43.6 14.3 42.3 87943L-20-20 1.1/4" 32 20 54 43.6 14.3 42.3
87943-24-24 1.1/2" 40 24 63.5 50.8 14.3 46.9 87943L-24-24 1.1/2" 40 24 63.5 50.8 14.3 46.9
87943-32-32 o 50 32 79.4 66.5 14.3 61.5 87943L-32-32 2" 50 32 79.4 66.5 14.3 61.5

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

T

A T ETEER
87993L
o 90° SAE 900PSI
90° SAE FLANGE 9000PSI INTERLOCK 88191
STRENGTHEN 90°
90° JIS FLANGE
HOSE BORE DIMENSIONS
PARTNO. FLANGE SIZE DN DASH c D L H
7993L-20-2 /4" 2 2 4 43. 14. .
87993L-20-20 1 1/4" 3 0 5 3.6 3 90.5 = TR BIVENSIONS
87993L-24-24 1.1/2 40 24 63.5 50.8 14.3 105 PART Number THREAD E BN T A c 5
87993L-32-32 2" 50 32 79.4 66.5 14.3 124
88191-10-08 5/8 12 08 41 34.2 27.8 | 48 6.7
88191-10-10 5/8 16 10 56.5 34.2 278 | 525 | 6.7
88191-10-12 5/8 20 12 65.5 34.2 278 | 62 6.7
1. 2. 88192-xXx-XX.
8 8 1 1 1 Note:1.For use with braided house 2.1f use with spira house,hose fitting serise numberis88192-xx-xx
:[u]”um JIS FLANGE
S —— HOSE BORE DIMENSIONS
. THREAD E DN DASH c D I
88111-10-08 5/ 8 12 08 45 342 | 278 | 6.7 F 2 18611
- 1
88111-10-10 5/ 8 16 10 46 34.2 27.8 6.7 i J_I-Hl'l-l Wil 60°
88111-10-12 5/8 20 12 46 34.2 27.8 | 6.7 B JIC METRC MALE60° CONE SEAT
1. 2. 88112-XX-XX.
Note:1.For use with braided house 2.I1f use with spira house,hose fitting serise numberis88112-xx-xx
E HOSE BORE DIMENSIONS

PART Number

THREAD E DN DASH A C S1

88 14 1 18611-14-04 M14x 1.5 6 04 29.5 17 17

45° 18611-14-06 M14x 1.5 10 06 29.5 17 17

45° J1S ELANGE 18611-16-04 M16x 1.5 6 04 30.5 18 17

18611-16-06 M16x 1.5 10 06 30.5 18 17

18611-18-06 M18x 1.5 10 06 30.5 18 19

18611-20-08 M20x 1.5 12 08 35 20 22

18611-22-08 M22x 1.5 12 08 35 20 24

HOSE BORE DIMENSIONS 18611-24-10 M24x 1.5 16 10 39.5 21.5 27

AR MILIRELDIE D DASH - C L al 18611-30-12 M30x 1.5 20 12 45 26 32

88141-10-08 5/8 12 08 58.9 34.2 27.8 24 6.7 18611-33-16 M33x 1.5 25 16 50.5 30 36

88141-10-10 5/ 8 16 10 70.2 34.2 27.8 25.3 6.7 18611-36-20 M36x 1.5 32 20 55 33 38

88141-10-12 5/8 20 12 76.2 34.2 27.8 28.8 6.7 18611-42-24 M42x 1.5 40 24 60 36 46

1. 2. 88142-XX-XX. 1. 2. 18642-xX-XX.

Note:1.For use with braided house 2.If use with spira house,hose fitting serise numberis88142-xx-xx Note:1.For use with braided house 2.1f use with spira house,hose fitting serise numberis18642-xx-xx

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

-—Ew e
i

”LLG#‘_

LA

) ‘ o} JLILIL

60°

" 28691-W

90°

60°

90° JIS METRIC FEMALE 60° CONE SEAT

Lo s st = JIC METRC MALE60° CONE SEAT

o2 28611 st 28611-W

PART Number = HOSE BORE DIMENSIONS

THREAD E DN DASH C S1 S2
28611-12-04 M12x 1.5 04 20 9 17 17
28611-14-04 M14x 1.5 04 21 10.5 19 19
28611-14-06 M14x 1.5 10 06 21 10.5 19 19
28611-16-04 M16x 1.5 04 24 10 22 22
28611-16-05 M16x 1.5 05 24 10 22 22
28611-16-06 M16x 1.5 10 06 24 10 22 22
28611-18-06 M18x 1.5 10 06 25 11.5 24 24
28611-18-08 M18x 1.5 12 08 24.5 11.5 24 24
28611-20-08 M20x 1.5 12 08 28.5 12 27 27
28611-22-08 M22x 1.5 12 08 25.5 14 27 27
28611-24-08 M24x 1.5 12 08 27.5 15 32 32
28611-24-10 M24x 1.5 16 10 28.5 15 32 32
28611-27-10 M27x 1.5 16 10 28.5 10 32 32
28611-30-12 M30x 1.5 20 12 28.5 18.3 36 36
28611-33-12 M33x 1.5 20 12 31 21.3 41 41
28611-33-16 M33x 1.5 25 16 32 21.3 41 41
28611-36-20 M36x 1.5 32 20 35.5 20 46 46
28611-42-24W M42x 1.5 40 24 36 18.8 50 55
1. 2. 28612-XX-XX.

Note:1.For use with braided house

2.If use with spira house,hose fitting serise numberis28612-xx-xx

HOSE BORE DIMENSIONS

PART Number THREAD E DN DASH C H

28691-14-04 M14x 1.5 6 04 30 10.5 38 19 19
28691-14-06 M14x 1.5 10 06 35.5 10.5 43.3 19 19
28691-16-05 M16x 1.5 8 05 33 10 44 22 22
28691-18-06 M18x 1.5 10 06 35.3 11.5 46.3 24 24
28691-22-08 M22x 1.5 12 18 41 14 52.5 27 27
28691-24-10 M24x 1.5 16 10 56.5 15 59 32 32
28691-30-12 M30x 1.5 20 12 65.5 18.3 68.58 36 36
28691-33-16 M33x 1.5 25 16 76.7 21.3 76 41 41
28691-36-20 M36x 1.5 32 20 93 20 90 46 46
28691-42-24W M42x 1.5 40 24 109.4 18.8 103 50 55

1. 2. 28692-xx-xx

Note:1.For use with braided house

Note:1.For use with braided house

(Tel) 86-574-8847111

2.1f use with spira house,hose fitting serise numberis28642-xx-xx.

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

= 45° 60°
45° JIS METRIC FEMALE 60° CONE SEAT
28641-W
= HOSE BORE DIMENSIONS
PART Number THREAD E DN DASH A C H S1 S2
28641-14-04 M14x 1.5 6 04 43.4 10.5 21.3 19 19
28641-16-05 M16x 1.5 8 05 47.6 10 24.3 22 22
28641-18-06 M18x 1.5 10 06 49.2 11.5 24.9 24 24
28641-22-08 M22x 1.5 12 08 262.1 14 27.2 27 27
28641-24-10 M24x 1.5 16 10 74.4 15 29.9 32 32
28641-30-12 M30x 1.5 20 12 80.9 18.3 33.5 36 36
28641-33-16 M33x 1.5 25 16 89.9 21.3 35.7 41 41
28641-36-20 M36x 1.5 32 20 104.1 20 41.9 46 46
28641-42-24W M42x 1.5 40 24 116.2 18.8 45.5 50 55
1. 2. 28642-xx-XX

2.If use with spira house,hose fitting serise numberis28692-xx-xx.

Y S
i ‘H ;:I: LELHLI] ] = " {_"—;_[Ull[mlf_l] 0 o
i 9 = JIC GAS FEMALEG60° CONE SEAT
T m s2/ &I JIS B8363
29611 29611-W
PART Number E HOSE BORE DIMENSIONS
THREAD E DN DASH A C S1 S2
29611-02-03 G1/8"x 28 5 03 20 7 14 14
29611-04-04 G1/4"x 19 6 04 21 8 19 19
29611-04-05 G1/4"x 19 8 04 21 8 19 19
29611-06-04 G3/8"x 19 6 04 24 9 22 22
29611-06-06 G3/8"x 19 10 06 23 9 22 22
29611-08-06 G1/2"x 14 10 06 28 12 27 27
29611-08-08 G1/2"x 14 12 08 26.5 12 27 27
29611-10-10 G5/8"x 14 16 10 31 11.5 30 30
29611-12-10 G3/4"x 14 16 10 28.5 13.5 32 32
29611-12-12 G3/4"x 14 20 12 28.5 13.5 32 32
29611-16-16 G1"x 11 25 16 33 16 41 41
29611-20-20W G1.1/4"x 11 32 20 43 18.5 50 50
29611-24-24W G1.1/2"x 11 40 24 43.5 19 55 55
29611-32-32W G2"x 11 50 32 43.5 23 70 70
1. 2 29642-xX-XX.

Note:1.For use with braided house

(Tel) 86-574-8847111

(Fax) 8

6-574-8847116

2.1f use with spiral house,hose fitting serise numberis29642-xx-xx.

(URL) Http //www.ardyy.com




ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

[

29641-W

45°

60°

45° JIS GAS FEMALE 60° CONE SEAT

JIS B8363

20011-T
METRIC FEMALE WATEERWASH INSERTS
E HOSE BORE (0) DIMENSIONS
PART NO. THREADE DN DASH O RING A b D
20011-22-04T M22X1.5 6 04 010.0X2.0 25 14 34.5
20011-22-05T M22X1.5 8 05 010.0X2.0 32.7 14 34.5
20011-22-06T M22X1.5 10 06 010.0X2.0 28 14 34.5

HOSE BORE DIMENSIONS

PART Number THREAD E DN DASH H

29641-04-04 G1/4"x 19 6 04 43.4 8 21.3 19 19
29641-06-06 G3/8"x 19 10 06 48.9 9 24.6 22 22
29641-08-08 G1l/2"x 14 12 08 62.5 12 27.5 27 27
29641-12-12 G3/4"x 14 20 12 81.3 13.5 33.9 32 32
29641-16-16 G1"x 11 25 16 87.3 16 36 41 41
29641-20-20W G1.1/4"x 11 32 20 107.3 18.5 46.5 50 50
29641-24-24W G1.1/2"x 11 40 24 122.8 19 50.8 55 55
29641-32-32W G2'x 11 50 32 143 23 60 70 70

1. 2. 29642-xX-XX.

Note:1.For use with braided house

2.I1f use with spiral house,hose fitting serise numberis29642-xx-xx.

[ 5] (O]

60011 60012

MT STAPLELOCK MALE

90° 60°

90° JIS GAS FEMALE 60° CONE SEAT

JIS B8363

<o
29691-W
= HOSE BORE DIMENSIONS
PART Number THREAD E DN DASH A C H S1 S2
29691-04-04 G1/4"x 19 6 04 30 8 38 19 19
29691-04-05 G1/4"x 19 8 05 33 8 41 19 19
29691-06-06 G3/8"x 19 10 06 35.3 9 45.8 22 22
29691-08-08 G1/2"x 14 12 08 41 12 53 27 27
29691-10-10 G3/8"x 14 16 10 56.5 11.5 61 30 30
29691-12-12 G3/4"x 14 20 12 65.5 13.5 69 32 32
29691-16-16 G1"x 11 25 16 76.7 16 76.5 41 41
29691-20-20W G1.1/4"x 11 32 20 91.5 18.5 92.5 50 50
29691-24-24W G1.1/2"x 11 40 24 109.4 19 110.5 55 55
28691-32-32W G2"x 11 50 32 131.8 23 133.8 70 70
1. 2. 29692-xX-XX.

Note:1.For use with braided house

(Tel) 86-574-8847111

2.I1f use with spiral house,hose fitting serise numberis29692-xx-xx.

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

HOSE BORE DIMENSIONS
PART NO. DN C J
60011-04-04 6 04 31 25 15 11
60011-05-05 8 05 33.5 26 18 13
60011-06-06 10 06 33 26 18 15
60011-08-06 10 06 33.5 26 22 18
60011-08-08 12 08 34 26 22 18
60011-10-10 16 10 39 30 25 20
60011-12-12 20 12 40.5 31 28 24
60011-16-14 22 14 41 31 35 30
60011-16-16 25 16 42 31 35 30
1. . 60012-xx-Xx
Note:1.For use with braided hoses. 2.If use with spiral hoses,hose Fitting Series Number Is 60012-xx-xx
L = 67011 67012
J: | | | !J_H. -LH:“-[[,-ID_L—"J SAE
- SAE STAPLELOK MALE SAE J1467
HOSE BORE (o) DIMENSIONS
PART NO. DN DASH O RING A C J K
67011-04-04 6 04 006.0X2.0| 34 28 14.9 9.9
67011-06-06 10 06 010.0X2.0| 35 28 19.9 13.9
67011-08-08 12 08 013.0X2.5 36 28 23.9 17.9
67011-12-12 20 12 019.0X2.5| 37.5 28 28.9 23.9
67011-16-16 25 16 025.0X2.5| 44 33 38.8 30.9
67011-20-20 32 20 033.0X2.5| 44 33 45.9 37.9
67011-24-24 40 24 040.0X3.0| 47.5 36.3 54.9 46.9
67011-32-32 50 32 050.0X3.0| 47.5 36.3 63.9 55.9
1. 2. 67012-xX-XX

Note:1.For use with braided hoses. 2.If use with spiral hoses,hose Fitting Series Number Is 67012-xx-xx

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com




ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

72011 72012

4

70011 70012

|
" / I’ BSP BANJO
METRIC BANJO DIN 7642
HOSE BORE DIMENSIONS E HOSE BORE DIMENSIONS

PART NO. BOLT DN DASH A b D H PART NO. THREADE DN DASH A D D H
70011-10-03 M10X1 5 03 14.5 10.1 17 10 72011-02-03 G1/8"X28 5 03 18 9.9 22 16
70011-10-04 M10X1 6 04 17 10.1 17 10 72011-02-03 G1/8"X28 6 04 18.5 9.9 22 16
70011-12-04 M12X1.5 6 04 20.5 12.1 20 12 72011-04-03 G1/4"X19 5 03 19 13.3 24 15
70011-12-05 M12X1.5 8 05 20.5 12.1 20 12 72011-04-04 G1/4"X19 6 04 19.5 13.3 24 15
70011-12-06 M12X1.5 10 06 20.5 12.1 20 12 72011-04-05 G1/4"X19 8 05 19.5 13.3 24 15
70011-14-04 M14X1.5 6 04 21 141 24 14 72011-04-06 G1/4"X19 10 06 19.5 13.3 24 15
70011-14-05 M14X1.5 8 05 21 14.1 24 14 72011-06-04 G3/8"X19 6 04 22 16.7 29 20
70011-14-06 M14X1.5 10 06 21 14.1 24 14 72011-06-05 G3/8"X19 8 05 22 16.7 29 20
70011-16-04 M16X1.5 6 04 20.5 16.1 28 16 72011-06-06 G3/8"X19 10 06 22 16.7 29 20
70011-16-05 M16X1.5 8 05 20.5 16.1 28 16 72011-06-08 G3/8"X19 12 08 23 16.7 29 20
70011-16-06 M16X1.5 10 06 20.5 16.1 28 16 72011-08-05 G1/2"X14 8 05 27.5 21 38 25
70011-18-04 M18X1.5 6 04 23 18.1 32 20 72011-08-06 G1/2"X14 10 06 27.5 21 38 25
70011-18-05 M18X1.5 8 05 24 18.1 32 20 72011-08-08 G1/2"X14 12 08 28 21 38 25
70011-18-06 M18X1.5 10 06 24 18.1 32 20 72011-08-10 G1/2"X14 16 10 29 21 38 25
70011-18-08 M18X1.5 12 08 24.5 18.1 32 20 72011-10-10 G5/8"X14 16 10 28 23 40 27
70011-22-06 M22X1.5 10 06 28.1 22.1 39 25 72011-12-10 G3/4"X14 16 10 32 26.5 48 31
70011-22-08 M22X1.5 12 08 28.5 22.1 39 25 72011-12-12 G3/4"X14 20 12 32 26.5 48 31
70011-22-03 M22X1.5 16 10 28 22.1 39 25 72011-16-08 G1"X11 12 08 40 33.3 60 42
70011-26-03 M26X1.5 20 12 32.5 26.1 46 30 72011-16-12 G1"X11 20 12 40 33.3 60 42
70011-30-03 M30X1.5 25 16 37 30.1 54 36 72011-16-16 G1"X11 25 16 41 33.3 60 42
70011-30-03 M30X1.5 32 20 40 30.1 54 36 1. 5 7201 2-XX-XX.
1. 2. 70012-XX-XX. Note:1.For use with braided house 2.1f use with spiral house,hose fitting serise numberis72012-xx-xx.

Note:1.For use with braided house 2.If use with spiral house,hose fitting serise numberis70012-xx-xx.

700M 720B
METRIC BOLT DIN 7643 BSP BOLT
= DIMENSIONS
PART NO. THREADE A B C S1 E DIMENSIONS

700M-10 M10X1 19 5.5 6 14 PART NO. THREADE A B C S1
700M-12 M12X1.5 24 6 17 720B-02 G1/8"X28 29.5 4.8 4.8 14
700M-14 M14X1.5 26 6 19 720B-04 G1/4"X19 28.5 6 6 19
700M-16 M16X1.5 28 11 6 22 720B-06 G3/8"X19 38.5 9 7 22
700M-18 M18X1.5 32 13 6 24 720B-08 G1/2"X14 44 13 8.5 27
700M-22 M22X1.5 39 16 7 27 720B-10 G5/8"X14 48.5 15 10 30
700M-26 M26X1.5 45 20 7 32 720B-12 G3/4"X14 56 18 10 32
700M-30 M30X1.5 51 24 7 36 720B-16 G1"X11 68.5 22 13 41

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com E



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

15611SW
NPT SWIVEL MALE
15611SW
90° SAE O
E HOSE BORE DIMENSIONS 90° SAE O-RING BOSS SWIVEL MALE
PART NO. THREADE DN DASH A s2
15611SW-04-04 71/4"X18 6 04 56 19
15611SW-06-06 73/8"X18 10 06 60 22 E HOSE BORE o DIMENSIONS
L5611SW-08.08 2 X1a 1 08 o6 > PARTNO.  THREADE DN DASH O RONG A H s1 | s2
T5611SW 1212 ~3/a"x 14 20 e 684 2 16091KSW-08-06 | 3/4"X16 10 06 0908 28.5 | 63.5 | 19 27
16091KSW-08-08 |  3/4"X16 12 08 0908 285 | 63.5 | 19 27
16091KSW-10-06 | 7/8"X14 10 06 0910 285 | 65 19 27
16001KSW-1008 | 7/8"X14 12 08 0910 285 | 65 19 27
15691KSW 16091KSW-10-10 | 7/8"X14 16 10 0910 305 | 65.5 | 22 27

90°
90° NPT SWIVEL MALE

= HOSE BORE DIMENSIONS
PART NO. THREADE DN DASH A H s1 S2
15691KSW-04-04 Z1/4"X18 6 04 25 59.5 16 19
15691KSW-06-06 Z3/8"X18 10 06 25 64.5 16 22 90011
15691KSW-08-08 Z1/2"X14 12 08 28.5 71.5 19 27
15691KSW-12-12 Z3/4"X14 20 12 36 76.9 27 32 DOUBLE CONNECTOR

HOSE BORE DIMENSIONS
15691KSW PART Number —~ — L
SAE O
SAE O-RING BOSS SWIVEL MALE 90011-04 6 04 69
90011-05 8 05 69
90011-06 10 06 73
90011-08 12 08 77
= HOSE BORE (e DIMENSIONS 90011-10 16 10 83
PART NO. THREADE DN DASH O RONG A S2 90011-12 20 12 93
16011SW-08-06 3/4"X16 10 06 0908 57.5 27 90011-16 25 16 114
16011SW-08-08 3/4"X16 12 08 0908 58 27 90011-20 32 20 132
16011SW-10-08 7/8"X14 12 08 0910 59.5 27 90011-24 40 24 162
16011SW-10-10 7/8"X14 16 10 0910 60.1 27 90011-32 50 32 170
16011SW-12-12 | 1.1/16"X12 20 12 0912 64.9 32 Note:For wire braid hoses

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ERrD AEARD

SWAGED HOSE FITTING SWAGED HOSE FITTING

ANERDAHYDRAULIC ANERDAHYDRAULIC

90012 20141F
= 7RI 45
DOUBLE CONNECTOR i 45 ° 68 HIRIC HMALE WUTI SEAL
| NTEGRAL IHTI NG
HOSE BORE DIMENSIONS
PART Number DN DASH L E HOSE BORE DIMENSIONS
90012-04 6 04 83 PART NO. THREADE DN DASH S1 S2 H
90012-05 8 05 87 20141F-14-04B M14X1.5 6 04 4 17 17 15
90012-06 10 06 87 20141F-18-06B M18X1.5 10 06 4.5 22 19 19.3
90012-08 12 08 91 20141F-22-08B M22X1.5 12 08 5 27 22 21
90012-10 16 10 97 20141F-27-10B M27X1.5 16 10 4.5 32 27 25
90012-12 20 12 110 20141F-30-12B M30X1.5 20 12 4 36 32 29
90012-16 25 16 134 20141F-36-16B M36X2 25 16 41 38 35
90012-20 32 20 153 20141F-39-16B M39X2 25 16 46 38 35
90012-24 40 24 172
90012-32 50 32 178
Note:For wire braid hoses
L v
N o P : 20191F
J! T . 20111F i 00"
. p 90° GB METRIC FEMALE MULTISEAL
Jz;ﬁf 7 INTEGRAL FITTING
e GB METRIC FEMALE MULTISEAL
- INTEGRALFITTING
= HOSEEORE BIMENSIONS = HOSE BORE DIMENSIONS
PART NO. THREADE DN DASH C S1 S2 ST G I 5N SASH = =
2011F-14-04B M14x1.5 6 04 4 17 17
2011F-18-06B M18x1.5 10 06 45 22 19 20191F-14-04B M14X1.5 6 04 4 17 17 28
2011F-22-08B M22%1.5 12 08 5 27 22 20191F-18-06B M18X1.5 10 06 4.5 22 19 39
2011F-27-10B M27%1.5 16 10 45 32 27 20191F-22-08B M22X1.5 12 08 5 27 22 48
2011F-30-12B M30x15 20 12 4 36 32 20191F-27-10B M27X1.5 16 10 4.5 32 27 56.5
2011F-36-16B M36x2 25 16 5 a1 38 20191F-30-12B M30X1.5 20 12 4 36 32 62.5
2011F-39-168 M39x2 25 16 5 16 38 20191F-36-16B M36X2 25 16 41 38 76.5
2011F-45-20B M45x2 32 20 6 55 50 20191F-39-16B M39X2 25 16 46 38 76.5

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com E




ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

20211F

GB METRIC FEMALE FLAT ISEAL

INTEGRALFITTING

E HOSE BORE DIMENSIONS

PART NO. THREADE DN DASH S1 S2
20211F-14-04B M14x1.5 6 04 8 17 17
20211F-18-06B M18x1.5 10 06 8.5 22 19
20211F-22-08B M22x1.5 12 08 10 27 22
20211F-27-10B M27x1.5 16 10 10.5 32 27
20211F-30-12B M30x1.5 20 12 11 36 32
20211F-36-16B M36x2 25 16 13 41 38
20211F-45-20B M45x2 32 20 15 55 50

s 1L LT

T T T

Ml o g i R T

20241F

45°

45° GB METRIC FEMALE FLAT SEAL

INTEGRALFITTING

E HOSE BORE DIMENSIONS

PART NO. THREADE DN DASH S1 S2 H
20241F-14-04B M14X1.5 6 04 8 17 17 18
20241F-16-06B M16X1.5 10 06 8 19 19 20
20241F-18-06B M18X1.5 10 06 8.5 22 19 21.4
20241F-22-08B M22X1.5 12 08 10 27 22 27
20241F-27-10B M27X1.5 16 10 10.5 32 27 28
20241F-30-12B M30X1.5 20 12 11 36 32 25.2
20241F-36-16B M36X2 25 16 13 41 38 27

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

20291F

90 °

90 ° 8 ENIRIC HBWVALE LAT EBEAL

= Hiﬁllg/ | NTEGRAL IATI NG
' r .”? '
Lk
E HOSE BORE DIMENSIONS
PART NO. THREADE DN DASH S1 S2 H
20291F-14-04B M14X1.5 6 04 8 17 17 28
20291F-16-06B M16X1.5 10 06 8 19 19 36
20291F-18-06B| M18X1.5 10 06 8.5 22 19 36
20291F-22-08B|  M22X1.5 12 08 10 27 22 43
20291F-27-10B|  M27X1.5 16 10 10.5 32 27 63
20291F-30-12B M30X1.5 20 12 11 36 32 58
20291F-36-16B M36X2 25 16 13 41 38 68
20291F-45-20B M45X2 32 20 15 55 50 76
22111F

BSP FEMALE METRICSEAT
INITGRALFITTING

E HOSE BORE DIMENSIONS

PART NO. THREADE DN DASH S1 S2
22111F-04-04B G1/4"X19 6 04 4 17 17
22111F-06-06B G1/8"X19 10 06 4 22 19
22111F-08-08B G1/2"X14 12 08 4.5 27 22
22111F-10-10B G1/8"X14 16 10 4 27 27
22111F-12-10B G1/4"X14 16 10 5.5 32 27
22111F-12-12B G1/4"X14 20 12 5.5 32 32
22111F-16-16B G1"X11 25 16 7 38 38
22111F-20-20B G1.1/4"X11 32 20 50 50
22111F-24-24B G1.1/2"X11 40 24 55 55

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com E




ERrD AEARD

ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

!
ey e —
22141F S TR 1 22611
45 ° L LL;W = BSP FEMALE 60° CONE
45° BP BMALE WITI ERT ; Aok INTEGRAL FITTING

| NTEGRAL IHTI NG I

= HOSE BORE DIMENSIONS
PART NO. THREADE DN DASH C S1 S2
E HOSE BORE DIMENSIONS -
SART NO. S READE = SASH o = = . 22611F-04-04B|  G1/4"X19 6 04 5.5 17 17
22611F-06-04B|  G3/8"X19 6 04 6 22 17
22141F-04-04B|  G1/4"X19 6 04 4 17 17 | 172
22611F-06-06B|  G3/8"X19 10 06 6 22 19
22141F-06-06B|  G3/8"X19 10 06 4 22 19 24
22611F-08-088B| G1/2"X14 12 08 7 27 o2
22141F-08-08B|  G1/2"X14 12 08 4.5 27 22 27
22611F-10-08B|  G5/8"X14 12 08 8.5 27 22
22141F-10-10B]  G5/8"X14 16 10 4 27 27 29
22611F-12-12B|  G3/4"X14 20 12 9 32 32
22141F-12-12B|  G3/4"X14 20 12 5.5 32 32 29
22611F-16-16B|  G1"X11 25 16 11 38 38
22141F-16-16B]  G1"X11 25 16 7 38 38 34
22611F-20-20B | G1.1/4"X11 32 20 11 50 50
22141F-20-20B| G1.1/4"X11 32 20 6 50 50 40
22611F-24-24B| G1.1/2"X11 40 24 12 55 55
P
7 /5- l s 22191F
i 90 °
= s || 90 ° BP EMALE UMTI SEAL 2
‘lk._ INTEGRAL IATI @&\ E.fﬁ,——-
S ] |- 22641F
= = o
: 45° 60°
45° BSP FEMALE 60° CONE
INTEGRAL FITTING
E HOSE BORE DIMENSIONS
PART NO. THREADE
ON DASH < St S2 H E HOSE BORE DIMENSIONS
22191F-04-04B G1/4"X19 6 04 4 17 17 28 PART NO. THREADE DN DASH C S1 S2 H
CZULEDE e Gaode LY 03 i ez ) 3 22641F-04-04B|  G1/4"X19 6 04 5.5 17 17 15
22191F-08-08B| G1/2"X14 12 08 45 27 22 44 22641F-06-068]  GL/8"X19 0 06 s 07 9 | 172
et e D CE € Lo 20 55 &% 2} I 22641F-08-08B| G1/2"X14 12 08 7 27 22 | 193
22191F-12-12B|  G3/4"X14 20 12 5.5 32 32 62 22641F-10-108|  G1/a"X14 16 0 oc P P o8
e e T /T 2 =0 ! & & 2 22641F-12-12B]  G1/4"X14 20 12 9 32 32 29
22191F-20-20B] G1.1/4"X11 32 20 6 50 50 | 815 22641F-16.16B|  GL'X1L e 6 1 28 28 ”
22191F-24-24B| G1.1/2"X11 40 24 6 55 55 | 104 2641F-20.208]  GL1/4"X11 a2 20 " 0 50 39
22641F-24-24B] G1.1/2"X11 40 24 12 55 55 48

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com @



ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

: 22691F N
) 9 ° 60 ° G | - 26741F
90 ° BP HMALE 06° ONE i . .
. | NTEGRAL IATI NG = 45 JiC 74
45° JC HVALE 47° ONE ERT
I NTEGRAL IATI NG
E HOSE BORE DIMENSIONS
PART NO. THREADE DN DASH C S1 S2 H
22691F-04-04B]  G1/4"X19 6 04 5.5 17 17 28 BART NO THREA%E HOSEEORE DIMERSIONS
22691F-06-06B|  G3/8"X19 10 06 22 19 36 ' , el =l = > = A
22691F-08-08B| G1/2"X14 12 08 27 22 42 §§741F'g:'225 7116720 60 g: 90 1; 1; ;3
22691F-12-12B|  G1/4"X14 20 12 32 32 58 7alF- '0 B| 9/16'X18 L L L L 5
26741F-08-08B 4"X1 12 08 11 24 22 2
22691F-16-16B]  G1"X11 25 16 11 38 38 68 S e7ALF 10108 3; - o . . o = = o2
22691F-20-20B| G1.1/4"X11 32 20 11 50 50 81.5 22741F'12'128 7/8 ;142 22 12 0 ” o =
22691F-24-24B| G1.1/2"X11 40 24 12 55 55 94 == 1.1/16°X1
26741F-16-16B] 1.5/16"X12 25 16 14 38 38 315
26741F-20-20B|  1.5/8"X12 32 20 15 50 50 35
26741F-24-24B|  1.7/8"X12 40 24 19 55 55 42
A B rﬁfér .
a ||l'-| __\?W \- |_ JlC 740 . I. o o
= s JIC FEMALE 74° CONE SEAT = g 90 ° JIC 74
'\ , o] INTEGRAL FITTING 90 ° JC HWALE 47° ONE EAT
2 ; | NTEGEAL IATI NG
-.|I_'I_|_
T
BARTNO THREAEDE HOSEBORE DIMENSIONS HOSE BORE DIMENSIONS
: o e cE = PART NO. THREADE DN DASH s1 s2
26711F-04-048) 7/167X20 6 04 9 17 17 26791F-04-04B|  7/16"X20 6 04 9 17 17 28
26711F-06-06B| 9/16°X18 10 06 10 19 19 26791F-06-06B|  9/16"X18 10 06 10 19 19 36
26711F-08-08B|  3/4'X16 12 08 1 24 22 26791F-08-08B|  3/4"X16 12 08 11 24 22 42
26711F-10-10B  7/8"X14 16 10 12 27 27 26791F-10-10B|  7/8"X14 16 10 12 27 27 55
26711F-12-12B] 1.1/16°X12 20 12 13 32 32 26791F-12-12B| 1.1/16"X12 20 12 13 32 32 58
26711F-16-16B) 1.5/16"X12 25 16 14 38 38 26791F-16-16B] 1.5/16"X12 25 16 14 38 38 68
26711F-20-208) 1.5/8"X12 32 20 15 >0 >0 26791F-20-20B]  1.5/8"X12 32 20 15 50 50 76
26711F-24-24B| 1.7/8"X12 40 24 19 25 25 26791F-24-24B|  1.7/8"X12 40 24 19 55 55 90

G

86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com




ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING
A2
L
o 20791F
90 ° 74 °

90 ° 68 EHNIRIC BMALE 47° CONE

20711F 740 I NTEGRAL |HTI NG

GB METRIC FEMALE 74° CONE
INTEGRALFITTING

E HOSE BORE DIMENSIONS E AOEIE [BFOIKE DIMENSIONS

PART NO. THREADE DN DASH c s1 S2 AU THREADE DN DASH C S1 s2 H
20711F-14-048|  M14x1.5 6 05 8 17 17 20791F-14-04B]  M14X1.5 6 04 8 17 17 28
20710F-18-068 | Mi8xl5 e = o - 09 20791F-18-06B] M18X1.5 10 06 8.5 22 19 36
20711F-22-08B|  M22x1.5 12 08 10 7 » 20791F-22-08B]  M22X1.5 12 08 10 27 22 43
2071IF 271081 M27x15 e 13 o - - 20791F-27-10B]  M27X1.5 16 10 105 | 32 27 55
20711F-30-128 M30x2 50 19 1 36 22 20791F-30-12B]  M30X2 20 12 1 36 32 58
20711F-39-168B M39x2 = 1 T w - 20791F-39-16B]  M39X2 25 16 13 46 38 68

2
i 1 20741F =

AN

A AR,

20411F-B
24° 0

45 ° 74 °
45 ° 6 HWRIC HWALE 47° CONE
| NTEGRAL [HTI NG

_gg’f’ 7 Jgfﬂfgfﬁffﬁwf
7

‘Vaﬁ ot .l

| 4 H
e P o S,

METRIC FEMALE 24° CONE
L. TWITREINTEGRALFITTING

E HOSE BORE DIMENSIONS

PART NO. THREADE DN DASH C s1 S2 E HOSE BORE DIMENSIONS
20741F-14-04B]  M14X1.5 6 04 8 17 17 15 PART NO. THREADE DN DASH TUBE.O.D C S1
20741F-16-058] M16X1.5 8 05 8 19 17 17 30411F-14-04B | M14X1.5 6 04 8 2 19
20741F-18-06B] M18X1.5 10 06 8.5 22 19 20 30411F-16-05B | M16X1.5 8 50 10 2 22
20741F-22-08B|  M22X1.5 12 08 10 27 22 20 30411F-18-06B | M18X1.5 10 06 12 2.5 24
20741F-27-10B|  M27X1.5 16 10 10.5 32 27 24 30411F-22-08B | M22X1.5 12 08 15 3 27
20741F-30-12B M30X2 20 12 11 36 2 27 30411F-27-10B | M27X1.5 16 10 18 2.5 32
20741F-39-16B M39X2 25 16 13 46 38 31.5 30411F-30-12B M30X2 20 12 22 3.6 36
30411F-36-16B M36X2 25 16 28 4.5 41
30411F-45-20B M45X2 32 20 35 5 55
30411F-52-24B M52X2 40 24 42 6 60

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

20511F-B
24°

1 20441F-B
) 45° 24° 0

45° METRIC FEMALE24° o °
CONE L.T.WITH O-RING ONE METRIC FEMALE 24

TWO-WIRE INTEGEALFITTING B CONE H.T.WITH O-RING ONE
TWO-WIRE INTEGRAL FITTING

E HOSE BORE DIMENSIONS
E HOSE BORE DIMENSIONS PART NO. THREADE DN DASH TUBE.O.D C s
PART NO. THREADE DN DASH TUBE.O.D C S1 H 20511F-16-04B M16X1.5 6 04 8 2 22
30441F-14-04B | M14X1.5 6 04 8 2 19 27 20511F-18-04B | M18X1.5 6 04 10 2 24
30441F-16-05B | M16X1.5 8 05 10 2 22 28.2 20511F-20-05B |  M20X1.5 8 05 12 3 27
30441F-18-06B | M18X1.5 10 16 12 2.5 24 29.2 20511F-20-06B | M20X1.5 10 06 12 3 27
30441F-22-08B | M22X1.5 12 18 15 3 27 33.2 20511F-22-06B | M22X1.5 10 06 14 3 27
30441F-27-10B | M27X1.5 16 10 18 2.5 32 35.9 20511F-24-08B | M24X1.5 12 08 16 3 30
30441F-30-12B M30X2 20 12 22 3.5 36 42 20511F-30-10B M30X2 16 10 20 3.5 36
30441F-36-16B M36X2 25 16 28 4.5 41 34 20511F-36-12B M36X2 20 12 25 3 41
30441F-45-20B M45X2 32 20 35 5 55 43 20511F-36-14B M36X2 22 14 25 3 41
30441F-52-24B M52X2 40 24 42 6 60 42 20511F-42-16B M42X2 25 16 30 5 50
20511F-52-20B M52X2 32 20 38 6.5 60
20511F-52-24B M52X2 40 24 38 6.5 60
| 20491F-B . ~—‘ 20541F-B
90° 24° 0 N | g age e

7o 1 1] 0
el 45° METRIC FEMALE 24°

CONE H.T.WITH O-RING ONE
TWO-WIRE INTEGRALFITTING

90° METRIC FEMALE24°
CONE L.T.WITH O-RING ONE
TWO-WIRE INTEGEAL FITTING

E HOBE S0 22 DR DL E HOSE BORE DIMENSIONS

PART NO. THREADE DN DASH TUBE.O.D c s1 H PART NO. THREADE DN DASH TUBE.O.D s1 H
20491F-14-04B | M14X1.5 6 04 8 2 19 36 20541F-18-04B | M18X1.5 6 04 10 2 24 22.3
20ndlFlo il e ae 8 05 10 2 — el 20541F-20-05B | M20X1.5 8 05 12 3 27 25.3
20491F-18-06B | M18X1.5 10 06 12 2.5 24 42 20541F-22-06B | M22X1.5 10 06 14 3 27 25.3
AV US| (NS 2 U Lo = 2l e 20541F-24-08B | M24X1.5 12 08 16 3 30 27.5
20491F-27-10B | M27X1.5 16 10 18 25 32 55 20541F-30-10B | M30X2 16 10 20 35 36 31
20491F-30-12B M30X2 20 12 22 3.5 36 64 20541F-36-12B | M36X2 20 12 oy 3 41 34
20491F-36-16B |  M36X2 25 16 28 4.5 41 67 20541F-42-16B |  M42X2 25 16 30 5 50 | 42.8
20491F-45-20B |  M45X2 22 20 &9 3 &9 i 20541F-52-20B | M52X2 32 20 38 6.5 60 43
20491F-52-24B| MS52X2 40 24 42 6 60 | 885 20541F-52-24B |  M52X2 40 24 38 6.5 60 45

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

20591F-B

90° 24° jﬁf

0 o *_ )

90° METRIC FEMALE 24° W,,,,,,,,, L 87341F-B
CONE H.T.WITH O-RING ONE = m‘m 4 SAE 300095,

TWO-WIRE INTEGRALFITTING ' 45° SAE FLANGE3000PSI FOR ONE
TWO-WLRE INTEGRAL FITTING

= HOSE BORE DIMENSIONS
PART NO. THREADE DN DASH TUBE.O.D C S1 H
20591F-18-04B M18X1.5 6 04 10 2 24 36
20591F-20-05B M20X1.5 8 05 12 3 27 44
20591F-22-06B M22X1.5 10 06 14 3 27 46.3 HOSE BORE DIMENSIONS
20591F-24-08B | M24X1.5 12 08 16 3 30 51 FARTING FEANGE SIZE el Dkl © o L i
20591F-30108 | M30x2 o P 20 e 6 | 575 87341B-08-08B 1/2" 12 08 302 | 23.9 7 23.3
20591F-36.128 | M36x2 20 P - s " o 87341B-12-12B 3/4" 20 12 381 | 31.7 7 29.6
20591F-42-16B M42X2 25 16 30 5 50 77.5 87341B-16-16B 1" 25 16 44 .4 38 8.2 30.4
20591F52.208 | M52x2 o 20 a5 . o0 a5 87341B-20-208 1.1/4" 32 20 508 | 432 | 82 | 345
20591F-52-24B M52X2 40 24 38 6.5 60 102.5 87341B-24-24B 1.1/2" 40 24 60.3 50.3 8.2 42
87341B-32-328B 2" 50 32 714 | 622 | 98 | 491
—
87311F-B - =
H SAE 3000PS| [ “'/r ' ~ 87391F-B
. ) = ' 90° SAE  3000PS
- f’ﬁ [ éwfﬂ ?@%F_bmgmgggﬁ E?TTN%NE { 90° SAE FLANGE3000PS| FOR ONE
R =4 TWO-WLRE INTEGRAL FITTING

HOSE BORE DIMENSIONS HOSE BORE RIMENSIONS
PART NO. FLANGE SIZE DN DASH D LT N FLANGE SIZE DN DASH D L
87311F-08-08B 1/ 2" 12 08 30.2 23.9 7 87391B-08-08B 1/2" 12 08 30.2 | 23.9 7 47
87311F-12-12B 3/ 4" 20 12 381 317 7 87391B-12-12B 3/4" 20 12 38.1 | 31.7 7 59
87311F-16-16B T 25 16 444 33 8.2 87391B-16-16B 1" 25 16 44.4 38 8.2 73
87311F-20-20B Lu# 32 20 50.8 43.2 8.2 87391B-20-20B 1.1/4" 32 20 50.8 43.2 8.2 83
87311F-24-24B Lo 20 ” 60 3 50 3 8.2 87391B-24-24B 1.1/2" 40 24 60.3 | 50.3 8.2 97
87311F-32-32B 2 50 32 714 62 2 98 87391B-32-32B 2" 50 32 714 | 622 | 9.8 118

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

e ' 87611F-B
e::."_ﬂﬂ = )

WA SAE  6000PS|
= | SAE FLANGE6000PSI FOR ONE
2 i TWO-WLRE INTEGRAL FITTING
HOSE BORE DIMENSIONS
PART NO. FLANGE SIZE DN DASH C D L
87611B-08-08B 1/2" 12 08 31.8 23.9 7.9
87611B-12-12B 3/4" 20 12 41.3 31.7 8.9
87611B-16-16B 1" 25 16 47.6 38 9.6
87611B-20-20B 1.1/4" 32 20 54 43.6 10.4
87611B-24-24B 1.1/2" 40 24 63.5 50.8 12.7
87611B-32-32B 2" 50 32 79.4 66.5 12.7
—H 87641F-B
'/ diuis 45° SAE  6000PSI
i iz 45° SAE FLANGEG6000PSI FOR ONE

TWO-WLRE INTEGRALFITTING

ql = b
L e |
HOSE BORE DIMENSIONS
PART NO. FLANGE SIZE DN DASH C D L H
87641F-08-08B 1/2" 12 08 31.8 23.9 7.9 24.7
87641F-12-12B 3/4" 20 12 41.3 31.7 8.9 31.8
87641F-16-16B 1" 25 16 47.6 38 9.6 34
87641F-20-20B 1.1/4" 32 20 54 43.6 10.4 39.4
87641F-24-24B 1.1/2" 40 24 63.5 50.8 12.7 45.5
87641F-32-32B 2" 50 32 79.4 66.5 12.7 52.7
87691F-B

90° SAE 6000PSI
90° SAE FLANGEG60OOPSI FOR ONE
TWO-WLRE INTEGRAL FITTING

HOSE BORE DIMENSIONS

PART NO. FLANGE SIZE DN DASH C D L H
87691F-08-08B 1/2" 12 08 31.8 23.9 7.9 49
87691F-12-12B 3/4" 20 12 41.3 31.7 8.9 63.9
87691F-16-16B 1" 25 16 47.6 38 9.6 76
87691F-20-20B 1.1/4" 32 20 54 43.6 10.4 87.9
87691F-24-24B 1.1/2" 40 24 63.5 50.8 12.7 103
87691F-32-32B 2" 50 32 79.4 66.5 12.7 124

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



